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��� ���!������ 
���
� �� ������)
� ��� ������ “An Introduction to
the Theory of Numbers” ��� Hardy ��� Wright.
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��
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 �� �����
� ������� ��	 Dirichlet

���� ����
����� ��	���
 a, a+m, a+2m, ... , 
� a,m �� ����� ������� �������
�������� �������
 ������
 ����
��
�

'� ������
�
� ���� ����
��	��
 !�� ����� ���� ��� ��� Dirichlet �� ./01
��� ������� ����
��	��
 ��� ��� ������ 
�	�
������� 

 ������
������ �������
����
�)��+ Mertens (1897), Selberg (1949), Zassenhaus (1949).
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� ��� ���	
���� �� '�� ������ ��� 
�!�#
���� ������ �������� gcd(a, b) ��� ���	
��� '�� ������ ��� ���2��������mod m


 �� ��
���� ��
�����
� a ≡ b mod m� '�� ���������
� ����
�� ���2��������
[1], [2], ..., [m] ��� ��� ��� ����	����

 ��� ��� �����������&��

� '� ���������
��� Euler ϕ(m)� '� "
���
� ��� Fermat - Euler.

�� ��� �� "
���� �
����+
'�� ������ ��� ��)�� 
��� �
���� ��� ��� ��������� am = e !�� �� �����
��

a 
��� �
����� ��� ��)� ��� m ��� �� 
�������� �����
�� ��� e� '� ��� ����
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a 
���� ��� �����
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��� �
�
���
���� �
���� ��� �� b �������
� 
�� ���� ���
�� �����
�� ���� ���
 �� ab �������
� 
�� ���� ��� �� �����
�� ���� '�� ������
��� ��
���� � �
���� ��� �� �����
�!
� Gm = {[a] : 1 ≤ a ≤ m, gcd(a,m) =
1}� '�� ������ ��� ������ � �
����� '� "
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 ��
�����
��� �� ���� ��� ��� Cauchy !�� �
���
���� ��!����� ��� �� M−test ���
Weierstrass � '� ��
���� [x] ��� {x} !�� �� ������� 
���� ��� �� ����
�����


����� '�� ������ ��� !
���
�
���� ��������
����
∫ +∞

a
f(t)dt ��� �� ��� �

������� ��!���� ��� ���
��!
��� �� ��!���� ���� '� "
���
� 6���� '�
 �
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������� C �
 ����� 
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���#������	�
�� '�� ������ ��� �������� ��� ���
������ ���������� ��� C
��� 
����� ���+ �� Ω 
���� ������� ��� ���
����� ��������� ��� C ��� Ω =
A∪B� ���� �� A,B 
���� ������� ��� )��� 
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��� '�� ������ ��� �������������� ��� ��� 
)����
�� Cauchy-Riemann � '��
������������ 
��� �������� � ���������� ��� �
���#Taylor ��� 
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	���
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�������	��

������� 
�
  !��� Ω ������	 ��������� ��� C ��� ��������� {fn} ����������
����������� ��� Ω� "� fn → f �
��	
���� �� ���� ��
����
 ��������� ���

Ω� �	�� � f ����� ��������� ��� Ω ��� f
(k)
n → f (k) �
��	
���� �� ���� ��
����


��������� ��� Ω ��� ����������� k ∈ N�

�
�������
���� ��	
 fn 
���� ���
� � ��� Ω� ���
��!
��� ��� � f 
���� ���
� � �


��	
 ��
��!�� ��������� ��� Ω� �� �����

 ����� s ∈ Ω ��� δ > 0 ���
 �
��
����� ������ ∆(s; δ) �� �
����
��� ��� Ω� ���
 � f 
���� ���
� � ��� �����
���� 
��
����� 
���� ���
� � ��� s� $��� � f 
���� ���
� � �
 ��	
 ��

�� ���
Ω�

"
����

 ������� ���!���� ��
���� γ� ��� ������ � 
����� γ∗ 
�&� 

 ��

���
���� ��� ���!��� �
����
��� ��� Ω� '��
� ��� �� "
���
� ��� Cauchy
���
��!
��� ��� !�� ��	
 n ����
�∫

γ

fn(s)ds = 0 .

4�!� �
���
����� ��!������ ��� ��
��!�� γ∗� ����



∣∣∣∫
γ

fn(s)ds−
∫

γ

f(s)ds
∣∣∣ ≤

∫
γ

|fn(s) − f(s)||ds|

≤ maxs∈γ∗ |fn(s) − f(s)| 
 ���(γ) → 0

���� n→ +∞�
$��� ∫

γ

f(s)ds = 0

=



> ��������� �	 ��
�����


���� 
�
�� � f 
���� ���
� � ��� Ω� ���
��!
��� ��� �� "
���
� ��� Morera
��� � f 
���� �������� ��� Ω�

9������� 	
����

 ������� ��
���� ����� ∆(s0; δ0) ��������� ��� Ω� ��
��
�������

 Π(s0; δ0) ��� �
�����
�� ��� ∆(s0; δ0)� ���
 ��� ��� ���� ���
Cauchy ����

 ��� !�� ��	
 n ��� !�� ��	
 k ����
�

f (k)
n (s) =

k!
2πi

∫
Π(s0;δ0)

fn(ς)
(ς − s)k+1

dς

���

f (k)(s) =
k!
2πi

∫
Π(s0;δ0)

f(ς)
(ς − s)k+1

dς

!�� ��	
 s ���� ������� ����� ∆(s0; δ0)�
3
�����&��

� ����� �� s ���� ������� ����� ∆(s0; 1

2δ0) ��� ����



|f (k)
n (s) − f (k)(s)| =

∣∣∣ k!
2πi

∫
Π(s0;δ0)

fn(ς) − f(ς)
(ς − s)k+1

dς
∣∣∣

≤ k!
2π

∫
Π(s0;δ0)

|fn(ς) − f(ς)|
|ς − s|k+1

|dς|

≤ k!
2π

maxς∈Π(s0;δ0)|fn(ς) − f(ς)|
(1
2δ0)

k+1
2π

1
2
δ0

=
2kk!
δk
0

maxς∈Π(s0;δ0)|fn(ς) − f(ς)|.

$���

maxs∈∆(s0;
1
2 δ0)|f (k)

n (s) − f (k)(s)| ≤ 2kk!
δk
0

maxς∈Π(s0;δ0)|fn(ς) − f(ς)| .

4�!� �
���
����� ��!������ ��� {fn} ���� f ��� ��
��!�� Π(s0; δ0)� ���
#
��!
��� ��� � {f (k)

n } ��!����
� ���� f (k) �
���
���� ��� ∆(s0; 1
2δ0)�

$%���

� ������� ����
�)
� ��� !�� ��	
 ��

�� ��� Ω �����
� ������ 

 ������

�� ��

�� ���� ���� ������ � {f (k)
n } ��!����
� �
���
���� ���� f (k)�

$%���� ����� ����� ��
��!�� K ��������� ��� Ω� -�� ��	
 s ∈ K �����
�

∆(s; δ) ���� � {f (k)
n } ��!����
� �
���
���� ���� f (k)� '� K ������
��� ���

�� ������� ������ ∆(s; δ) ��	�� �� s �������
� �� K ���� 
�
�� �� K 
����
��
��!��� �������� �
�
���
��� s1, ..., sm ���
 �� K �� �
����
��� ���� �����
∪m

j=1∆(sj ; δj)� '��


maxs∈K |f (k)
n (s) − f (k)(s)| ≤ max1≤j≤mmaxs∈∆(sj ;δj)|f (k)

n (s) − f (k)(s)| ,

����
 � {f (k)
n } ��!����
� ���� f (k) �
���
���� ��� K�



�	�	 ���������������� ���������� �������� 1

������� 
��  !��� ������	 ��������� Ω ��� C ��� {fn} ��������� �������#
���� ���������� ��� Ω� "� � �����

∑+∞
n=1 fn ��������� ���� f �
��	
���� ��

���� ��
����
 ��������� ��� Ω� �	�� � f ����� ��������� ��� Ω ��� ��� ����

k ∈ N ������ 	�� � �����
∑+∞

n=1 f
(k)
n ��������� ���� f (k) �
��	
���� �� ����

��
����
 ��������� ��� Ω�

�
�������
%���
�&��

 �� ����!��

�� "
���
� .�. ���� ������	�� ������ �
��

{sn}� ���� sn = f1 + · · · + fn�
9�	
 sn 
���� �������� ��� Ω ��� � {sn} ��!����
� ���� f �
���
���� �


��	
 ��
��!�� ��������� ��� Ω� $��� � f 
���� �������� ��� Ω ��� � {s(k)
n }

��!����
� ���� f (k) �
���
���� �
 ��	
 ��
��!�� ��������� ��� Ω� $�
��

s
(k)
n = f

(k)
1 + · · · + f

(k)
n ��� � ����
�)� 
���� �� ����

( ��� ����	��
��� !
��� �
������� 
���
�! � ��� �
�
������ "
�� 
����
.�� 
���� �
 �������
� 

 �� ���� !�����

������� 
�� $%� M-test ��� Weierstrass &  !��� ��������� 
�������� �����#
������ {fn} ����
���� �� ��� ������ A ��� ���� ��������� ����
�� Mn ����
�� ������ |fn(a)| ≤Mn ��� ���� n ∈ N ��� ��� ���� a ∈ A� "� � ����� ����
��∑+∞

n=1Mn ���������� �	�� � ����� �����������
∑+∞

n=1 fn ��������� �� ������
��������� �
��	
���� ��� A�

( ����
�)� 	
��
���� !���� �

��� ��	���������	�� ��������� �������

������� 
�
  !��� {zn} ��������� 
�������� ����
��� '��
�(��
� ������#
���	
��� 
� �����	 	�� zn �� ��
)���

+∞∏
n=1

zn � z1z2 · · · .

*�
� 	�� �� ������#���	
��� ��������� ��� 
������	 ����
	 P � �� ��
)������
�� ��	�����

+� ������� N ���� zn �= 0 ��� ���� n ≥ N ���

,� � ��������� 
������ ����
���� zN , zNzN+1, zNzN+1zN+2, ... ��������� ��
������ Q ���

-� �� Q ����� ����������	 ��	 �� . ��� �� ∞ ���

/� P = z1 · · · zN−1Q�

"� ������ ��	 �� +� ,� - ��� ������� �	�� ��
� 	�� �� ������#���	
��� ����������
*�
� 	�� �� ������#���	
��� ��������� ��� . � ��� ∞� �� ������� �� +� ,�

���� �� Q ����� ��� 
� . � ∞ �����������



/ ��������� �	 ��
�����


����������
�� �� ��
���#!���

�� 
��
 ��!����
� 
��
 �������
� ��� ?  ��� ∞� ���


���
��!
��� ��� �� ���� �
�
���
��� �� 	�� ��� �� zn 
���
� �� 
���� ��� 

 ?�
%������ �� �� ��
���#!���

�� ��!����
� �
 ���	
� ������
���� ��� �� ?� ���


���
��!
��� ��� ������ ��� �� zn �
� 
���� ��� 

 �� ?�
9�� ������������ �� �� ��
���#!���

�� ��!����
� ��� ������ ��� �� zn �
�


���� ��� 

 �� 0� ���
 �� ��
���#!���

�� ��!����
� �
 ���	
� ������
���� ���
�� 0�

������� 
�
 "� ��
∏+∞

n=1 zn ���������� �	�� zn → 1�

�
�������
@����
������

 �� ��
�����
� ��� ����
�� ��� 	����



QN = zN , QN+1 = zNzN+1, QN+2 = zNzN+1zN+2, ....

'��
 Qn → Q ���� 
�
�� Q �= 0� ���
��!
��� ���

zn =
Qn

Qn−1
→ Q

Q
= 1 .

����
�
� �������� �� �����
����
���� !�� �� n−���� ��� � ��
�����
��
1 + an� ���� ��� zn� ����
 � 3������ .�. ��
� ���

�� ��
∏+∞

n=1(1 + an) ��!����
�� ���
 an → 0�

������� 
�� "� � �����
∑+∞

n=1 an ��������� �������
� �	�� ��
∏+∞

n=1(1 + an)
����������

�
�������
%�
�� � �
���

∑+∞
n=1 an ��!����
�� ���
��!
��� ��� an → 0 ���� 
��
�����

�� ���� �
�
���
��� �� 	�� ��� �� 1 + an 
���
� �� 
���� ��� 

 �� ?�
0�������� +�

∑+∞
n=1 |an| < 1�

'��
 |an| < 1 !�� ��	
 n� ����
 ������ 1 + an �
� 
���� ��� 

 ?� "����



Pn = (1 + a1) · · · (1 + an)

��� 	� �
�)��

 ��� � ������	�� {Pn} ��!����
� �
 
�!����� ���	
� ������
����
��� �� ?�

$%���

 ���

|Pn| ≤ (1 + |a1|) · · · (1 + |an)| ≤ exp(|a1| + · · · + |an|) ≤ e .

%������
Pn+1 − Pn = Pn(1 + an+1) − Pn = Pnan+1 ,

����

|Pn+1 − Pn| ≤ e|an+1| .



�	�	 
 ����
 �

 ���������

 
������


 <

%�
�� �
∑+∞

n=1 |an+1| ��!����
�� ���
��!
��� ��� � P1 +
∑+∞

n=1(Pn+1 − Pn)
��!����
�� �� P 
���� �� �	����
� ��� �
���� ��� �� ���


Pn = P1 + (P2 − P1) + · · · + (Pn − Pn−1) → P

��� ���
��
� �� �
�)��

 ��� P �= 0�
$�
��

|Pn| ≥ (1 − |a1|) · · · (1 − |an|) ≥ 1 − (|a1| + · · · + |an|) ≥ 1 −
+∞∑
k=1

|ak| = α > 0 .

� α 
���� ��
)������� ��� n� ����
� �� �� ���

 �� n �� �
��
� ��� +∞�
�������



|P | ≥ α > 0

���� 
��
����� P �= 0�
0�������� ,�

∑+∞
n=1 |an| ≥ 1�

A����
� N ���

+∞∑
n=N

|an| < 1 .

'��
� ��� ��� ����� �
������� �������

 ��� ��
∏+∞

n=N(1+ an) ��!����
� �


�!����� ���	
� ������
���� ��� �� ?� $���� ���
� ��� ����
��� ��

∏+∞
n=1(1+an)

��!����
��

��� � �� � �!
 ���������
 
��� ��!


������� 
��  !��� f ��������� �� ������	 ��� ��������	 ��������� Ω ��� C�
"� ������� ��������� {sn} ��� Ω ��� s ∈ Ω 
� sn → s ��� sn �= s ��� ���� n�
���� f(sn) = 0 ��� ���� n� �	�� � f �����(���� 
� �� 
������� ��������� ���
Ω�

1� ���� ���������2 �� �� ��(�
 ��
 f ����� ��
��� ����������
 ��� Ω� �	��
� f 
�����(���� ������ ��� Ω�

�
�������
B�C� $%��� ������ ���
 s ∈ Ω 

 ��� ��������+

������� {sn} ��� Ω 
� sn → s� sn �= s ��� ���� n ��� f(sn) = 0 ��� ���� n�

3������

 δ > 0 ���
 ∆(s; δ) ⊆ Ω ��� !�����

 �� �
���-Taylor ��� f ���
����� �����+

f(η) = a0 + a1(η − s) + a2(η − s)2 + · · · .
$%��� ��� �
� 
���� ��� �� an ��� 

 �� ?�
'��
 �����
� ������ 
������� N ���
 aN �= 0� :���� � �
��� !��
���

f(η) = aN (η − s)N + aN+1(η − s)N+1 + · · ·
= (η − s)N [aN + aN+1(η − s) + · · ·] = (η − s)Ng(η) ,



.? ��������� �	 ��
�����


���� � ��������� g ���&
��� ��� ����� ∆(s; δ) ��� �� ����
��
���

g(η) = aN + aN+1(η − s) + · · ·
���� 
��
����� 
���� �������� 
�
�� %�
�� sn → s� ���
��!
��� ���� !�� 

!���
n� �� sn �
����
��� ���� ∆(s; δ)� ����


0 = f(sn) = (sn − s)Ng(sn)

!�� 

!��� n� $���� ���� sn �= s�

g(sn) = 0

!�� 

!��� n� ����
� ��!� �����
��� ��� g ��� s

0 = lim g(sn) = g(s) = aN

��� ����� !��

 �
 ������
$��� ��� �� an 
���� ��� 

 �� ?� ����
 � f 
��
��&
��� ������ ���� ∆(s; δ)�
B5C� @���&��

 �� Ω ��� ���������

A = {s ∈ Ω : � f 
��
��&
��� �
 ������ ����� 

 ������ �� s}
��� ��� ��
�����
�����

B = Ω \A .

'� A 
����� ��������� ������� �������
$%��� ��� �� B �
� 
���� �������� '��
 �����
�

s ∈ B

���
 ������� ������ 

 ������ s �� 
�� �
����
��� ��� B� %�
�� ������� ������


 ������ s �
����
��� ��� Ω� ���
��!
��� ��� ��	
 ������ 

 ������ s ��
�
� ��
A� $��� �����
� ������	��

{sn} ��� A 

 sn → s .

'��

sn �= s ��� f(sn) = 0

!�� ��	
 n ��� ��� �� 
���� B�C ���
��!
��� ���

s ∈ A .

���� 
���� ������ ����
 �� B 
���� ������� �������
%�
�� �� Ω 
���� ���
������ ������ ��� �� A,B 
���� �
��� ��� ��� ���	
��

��� 	
�� 
���� ��� ��� �� ������
�
� ��� 
����� B�C ���
��!
��� ��� �� A �
�

���� �
��� ����


Ω = A .

$��� � f 
��
��&
��� ������ ��� Ω�

������� 
��  !��� ������	 ��� ��������	 ��������� Ω ��� C ��� f ���������
��� Ω� "� � f 
�����(���� �� ���� ��
��� ��	
 �������

�� �
�
���
 � ��	

�������� ������ ��� Ω� �	�� � f 
�����(���� ������ ��� Ω�

�
�������
$�

�� �����
�� ��� "
�� 
���� .�=�



�	�	 ����������

������

��
����������������������
�������..

��" ���������
 
�������	�
 ��� #��$����� ���

#����!������

������� 
��  !��� Ω ������	 ��������� ��� C ��� f : [a, b]×Ω → C ������

��� [a, b] × Ω� %	�� ���(���� �

F (s) =
∫ b

a

f(t, s)dt

��� Ω ��� ����� ������
 ��� Ω�

�
�������
'� ����� ��
� 
���� ���� ����
��� ����� � f(·, s) 
���� ���
� � ��� [a, b] !��

��	
 s ∈ Ω�
3������

 ����� s0 ∈ Ω ��� 	� �
�)��

 ��� � F 
���� ���
� � ��� s0�
"
����

 
��� ��� Ω ���� ��
���� ����� ∆ 

 ������ �� s0� ( f 
����

���
� � ��� ��
��!�� [a, b]×∆� ����
 
���� �
���
���� ���
� � 
�
�� $���� !��
��	
 ε > 0 �����
� δ > 0 ���


|f(t′, s′) − f(t′′, s′′)| < ε

!�� ��	
 t′, t′′ ∈ [a, b] ��� s′, s′′ ∈ ∆ 

 |t′ − t′′| < δ ��� |s′ − s′′| < δ�
'��
� !�� ��	
 s′, s′′ ∈ ∆ 

 |s′ − s′′| < δ� ����



|F (s′)−F (s′′)| =
∣∣∣∫ b

a

[f(t, s′)−f(t, s′′)]dt
∣∣∣ ≤ ∫ b

a

|f(t, s′)−f(t, s′′)|dt ≤ (b−a)ε .

$��� � F 
���� ���
� � ��� ∆ ���� 
��
����� 
���� ���
� � ��� s0�

������� 
��  !��� Ω ������	 ��������� ��� C ��� f : [a, b] × Ω → C ����

+� � f ����� ������
 ��� [a, b] × Ω�

,� ��� ���� t ∈ [a, b] � f(t, ·) ����� ��������� ��� Ω ���

-� � $
�������& ��������
 fs ����� ������
 ��� [a, b] × Ω�

%	�� � F (s) =
∫ b

a
f(t, s)dt ����� ��������� ��� Ω ���

F ′(s) =
∫ b

a

fs(t, s)dt

��� ���� s ∈ Ω�

�
�������
3������

 ����� s0 ∈ Ω ��� 	� �
�)��

 ��� � F 
���� �������� ��� s0 ���

���

F ′(s0) =
∫ b

a

fs(t, s0)dt .



.� ��������� �	 ��
�����


"
����

 �� ��������� g : [a, b] × Ω → C ��� ���&
��� 

 ��� ����

g(t, s) =
{

f(t,s)−f(t,s0)
s−s0

, �� s �= s0
fs(t, s0), �� s = s0.

�� 	
�� ���

 ��

�� (t1, s1) 

 s1 �= s0� ���
� 
�
�� � f 
���� ���
� ��
����



lim
t→t1,s→s1

g(t, s) = lim
t→t1,s→s1

f(t, s) − f(t, s0)
s− s0

=
f(t1, s1) − f(t1, s0)

s1 − s0
= g(t1, s1) .

$%��� ��

�� (t0, s0)� "� ����
�)��

 ���

lim
t→t0,s→s0

g(t, s) = g(t0, s0) ,

���� � ����!��

��� �����!��
�� �
� ����
�� ����
 �����

 �� 
) �� -�����



f = u+ iv ��� s = σ + iτ ,

����
 ��� ��� 
)����
�� Cauchy-Riemann +

fs(t, ·) = uσ(t, ·) + ivσ(t, ·) = vτ (t, ·) − iuτ(t, ·) .
'��


|g(t, s) − g(t0, s0)| ≤ |g(t, s) − g(t, s0)| + |g(t, s0) − g(t0, s0)|
=

1
|s− s0|

∣∣f(t, s) − f(t, s0) − fs(t, s0)(s− s0)
∣∣

+|fs(t, s0) − fs(t0, s0)|
=

1
|s− s0|

∣∣∣[u(t, s) − u(t, s0)] + i[v(t, s) − v(t, s0)]

−fs(t, s0)[(σ − σ0) + i(τ − τ0)]
∣∣∣

+|fs(t, s0) − fs(t0, s0)| .
��� �� "
���
� 6���� '�
 � ����

 ��� !�� ������ s1, s2 ��� 
�	�!��

�

�
 
� [s0, s] ����
�

u(t, s) − u(t, s0) = uσ(t, s1)(σ − σ0) + uτ (t, s1)(τ − τ0)

���
v(t, s) − v(t, s0) = vσ(t, s2)(σ − σ0) + vτ (t, s2)(τ − τ0) .

��� ��� ��
�� �
�
����
� ����
�� ��� ��� ��� 
)����
�� Cauchy-Riemann ����#
���

� �
����� ���
|g(t, s) − g(t0, s0)|

≤ 1
|s− s0|

∣∣∣[(uσ(t, s1) − uσ(t, s0))(σ − σ0) + (uτ (t, s1) − uτ (t, s0))(τ − τ0)]

+i[(vσ(t, s2) − vσ(t, s0))(σ − σ0) + (vτ (t, s2) − vτ (t, s0))(τ − τ0)]
∣∣∣

+|fs(t, s0) − fs(t0, s0)|
≤ |uσ(t, s1) − uσ(t, s0)| + |uτ (t, s1) − uτ (t, s0)| + |vσ(t, s2) − vσ(t, s0)|

+|vτ (t, s2) − vτ (t, s0)| + |fs(t, s0) − fs(t0, s0)|.



�	�	 ��������
 ����������� ������
��� .0

( �����
�� ��� fs ���
��!
��� �� �����
�� ��� uσ, uτ , vσ, vτ ���� 
�
�� 
s1 → s0 ��� s2 → s0 ���� s→ s0� �������

 ���

lim
t→t0,s→s0

g(t, s) = g(t0, s0) .

����
�)�

� ������� ��� � g 
���� ���
� � �
 ��	
 ��

�� ��� [a, b] × Ω 
��

�� ��

�� ��
� �
��
�� ����
��!
��� ������
��� ��� �� s0 
��
 ��
� �
��
��
����
��!
��� ��� 

 �� s0� $��� � g 
���� ���
� � ��� [a, b]×Ω → C� ����
 ���
�� "
���
� .�1 �

G(s) =
∫ b

a

g(t, s)dt


���� ���
� � ��� Ω� $���

lim
s→s0

F (s) − F (s0)
s− s0

= lim
s→s0

∫ b

a

g(t, s)dt = lim
s→s0

G(s)

= G(s0) =
∫ b

a

g(t, s0)dt =
∫ b

a

fs(t, s0)dt .

��% &������� '���� ���� ������	��

%���� !����� ���� �� �� �
����
∑+∞

n=1 an ���
∑+∞

n=1 bn ��!�������� ���
 ��� � �
���∑+∞
n=1(an + bn) ��!����
� ���

+∞∑
n=1

(an + bn) =
+∞∑
n=1

an +
+∞∑
n=1

bn .

���� 
�
��
��
��� 

 
��!�! �
 �
�
���
��� �� 	�� �
����+ �� !�� m =
1, ...,M �� �
����

∑+∞
n=1 am,n ��!�������� ���
 ��� � �
���

∑+∞
n=1(

∑M
m=1 am,n)

��!����
� ���
+∞∑
n=1

(
M∑

m=1

am,n) =
M∑

m=1

(
+∞∑
n=1

am,n) .

������� 
��  !��� am,n ≥ 0 ��� ���� m,n� %	��

+∞∑
n=1

(
+∞∑
m=1

am,n) =
+∞∑
m=1

(
+∞∑
n=1

am,n) .

�
�������
$%���

K =
+∞∑
m=1

(
+∞∑
n=1

am,n) , L =
+∞∑
n=1

(
+∞∑
m=1

am,n) .

"� ����
�)��

 ���
K ≤ L .



.7 ��������� �	 ��
�����


���� 
���� �������� �� L = +∞� ����
 ���	����

 ��� L < +∞�
'��
� �
��� !�� ��	
 m ����
� ���

+∞∑
n=1

am,n ≤
+∞∑
n=1

(
+∞∑
m=1

am,n) = L < +∞ ,

����
 !�� ��	
 m � �
���
∑+∞

n=1 am,n ��!����
��
$��� !�� ��	
 M ����

 ���

M∑
m=1

(
+∞∑
n=1

am,n) =
+∞∑
n=1

(
M∑

m=1

am,n) ≤
+∞∑
n=1

(
+∞∑
m=1

am,n) = L .

%�
�� ��
∑M

m=1(
∑+∞

n=1 am,n) ��)��
� ��	�� �� M ��)��
�� ���
��!
����
�� ������ �� M �� �
��
� ��� +∞� ���

K =
+∞∑
m=1

(
+∞∑
n=1

am,n) ≤ L .

,�


����� ����
����
��� ���

L ≤ K ,

����

K = L .

������� 
�
  !���

+∞∑
n=1

(
+∞∑
m=1

|am,n|) =
+∞∑
m=1

(
+∞∑
n=1

|am,n|) < +∞ .

%	��
+∞∑
n=1

(
+∞∑
m=1

am,n) =
+∞∑
m=1

(
+∞∑
n=1

am,n) .

�
�������
9��$ ��� � ���������

 ��� � ������� ��� �
���� ���� ���	
�� 
���� �����
��

��� "
�� 
���� .�<�
-�� ��	
 am,n ���&��

 ���� ���	
���

a+
m,n = max(am,n, 0) ��� a−m,n = −min(am,n, 0)

��� 
���� �������� ��� !�� ��	
 m,n ����
� ��$ 
���

a+
m,n ≥ 0 ��� a−m,n ≥ 0 ,

��$ 
�����

a+
m,n − a−m,n = am,n ��� a+

m,n + a−m,n = |am,n| .



�	�	 � �����
������


 ��� ABEL .=

%��
����� ��!��������� 

 ��� ���	
�� ��� �����
��������� �� "
���
�
.�<� �������

 ���

+∞∑
n=1

(
+∞∑
m=1

a+
m,n) =

+∞∑
m=1

(
+∞∑
n=1

a+
m,n) < +∞

���
+∞∑
n=1

(
+∞∑
m=1

a−m,n) =
+∞∑
m=1

(
+∞∑
n=1

a−m,n) < +∞ .

���������� ���� 
��� �������



+∞∑
n=1

(
+∞∑
m=1

am,n) =
+∞∑
n=1

(
+∞∑
m=1

a+
m,n) −

+∞∑
n=1

(
+∞∑
m=1

a−m,n)

=
+∞∑
m=1

(
+∞∑
n=1

a+
m,n) −

+∞∑
m=1

(
+∞∑
n=1

a−m,n) =
+∞∑
m=1

(
+∞∑
n=1

am,n) .

��( # )*��
 +������!
 ��� Abel

������� 
�

  !��� ������
 ��3���� ��������� ����
������ ����
�� {λn}�
� ����� ��������� ��� +∞ ��� ��������� 
�������� {zn}�

4�����
� �� ��������� A : [λ1,+∞) → C 
� ����

A(x) =
∑

n:λn≤x

zn .

!����
� ���� φ : [λ1,+∞) → C�
%	��

k∑
n=1

znφ(λn) = A(λk)φ(λk) −
k−1∑
n=1

A(λn)[φ(λn+1) − φ(λn)] .

"�� ��������� � φ ���� ������ �������� ��� [λ1,+∞)� �	��

∑
n:λn≤x

znφ(λn) = A(x)φ(x) −
∫ x

λ1

A(t)φ′(t)dt .

"�� �����
� limx→+∞A(x)φ(x) = 0� �	��

+∞∑
n=1

znφ(λn) = −
∫ +∞

λ1

A(t)φ′(t)dt .

�
�������
A����!�&��



A(λn) =
∑

m:λm≤λn

zm = z1 + · · · + zn ,



.> ��������� �	 ��
�����


A(λn−1) =
∑

m:λm≤λn−1

zm = z1 + · · · + zn−1 .

$���

zn = A(λn) − A(λn−1)

!�� ��	
 n ≥ 2 ���� ������� z1 = A(λ1)�
%��
����

k∑
n=1

znφ(λn) = A(λ1)φ(λ1) +
k∑

n=2

[A(λn) −A(λn−1)]φ(λn)

=
k∑

n=1

A(λn)φ(λn) −
k∑

n=2

A(λn−1)φ(λn)

=
k−1∑
n=1

A(λn)φ(λn) +A(λk)φ(λk) −
k−1∑
n=1

A(λn)φ(λn+1)

= A(λk)φ(λk) −
k−1∑
n=1

A(λn)[φ(λn+1) − φ(λn)] .

$%��� k � 

!����
��� �������� ���
 λk ≤ x ���� 
��
�����

λk ≤ x < λk+1 .

'��


∑
n:λn≤x

znφ(λn) =
k∑

n=1

znφ(λn)

= A(λk)φ(λk) −
k−1∑
n=1

A(λn)[φ(λn+1) − φ(λn)]

= A(x)φ(λk) −
k−1∑
n=1

A(λn)
∫ λn+1

λn

φ′(t)dt

= A(x)φ(x) −A(x)[φ(x) − φ(λk)] −
k−1∑
n=1

∫ λn+1

λn

A(λn)φ′(t)dt

= A(x)φ(x) −A(λk)
∫ x

λk

φ′(t)dt−
k−1∑
n=1

∫ λn+1

λn

A(λn)φ′(t)dt

= A(x)φ(x) −
∫ x

λk

A(t)φ′(t)dt−
k−1∑
n=1

∫ λn+1

λn

A(t)φ′(t)dt

= A(x)φ(x) −
∫ x

λ1

A(t)φ′(t)dt .



�	�	 � �����
������


 ��� ABEL .1

$���� �� A(x)φ(x) → 0 ��	�� x→ +∞� ���


+∞∑
n=1

znφ(λn) = −
∫ +∞

λ1

A(t)φ′(t)dt .



./ ��������� �	 ��
�����




�������� 	

� ζ��
���	��� 	�

Riemann

������� ��
 5 �����
∑+∞

k=1
1
pk

��� �� ������#���	
���
∏+∞

k=1(1 − 1
pk

)−1 ���#
������� ��� +∞�

�
�������
B.C -����&��

 ���� !�� 0 ≤ u < 1� � !
�

���� �
���

∑+∞
m=0 u

m ��!����
�
��� 1

1−u � $���� !�� ����� ��� ��
�� ��� u

1
1 − u

=
+∞∑
m=0

um ≥ 1 + u+ u2 + · · · + um .

"����

 u = 1
p ��� �������



(
1 − 1

p

)−1

≥ 1 +
1
p

+
1
p2

+ · · · + 1
pm

.

%����!��

 ����� x ≥ 2 ��� ���� n � 

!����
��� �������� ���
 pn ≤ x�
����
 �� ���	
��

2, 3, 5, ..., pn


���� ���� �� ������ 
���� �� x�
$%��� m ������� ���
 �������� 



2m ≥ x .

��� ��� ����!��

�� ��������� �������

(
1 − 1

2

)−1(
1 − 1

3

)−1

· · ·
(
1 − 1

pn

)−1

≥
(
1+

1
2

+
1
22

+ · · ·+ 1
2m

)(
1+

1
3

+
1
32

+ · · ·+ 1
3m

)
· · ·

(
1+

1
pn

+
1
p2

n

+ · · ·+ 1
pm

n

)

.<
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 ��� RIEMANN

=
∑

0≤i,j,...,h≤m

1
2i3j · · · ph

n

.

,�� �
�
����� �	����
� �� 
�	��
� i, j, ..., h ���������� � ��	���� ��� ��
)��#
���� � ���� ��� ��� ����� ��� ��
�� 0, 1, ...,m�

�� ������
����� ��� �	����
���� 
���� ���	
�� ��� � ����������� ���� ���
!���

�� ������ �
� �
����
���
� ������� ����� ���	
� ������
���� ��� ����
2, 3, ..., pn�

8�����&�
���
 ��� ���

�� �$ ������ ���� ������
����� �������� ���� ��
���	
�� 1, 2, ..., [x]�

3��!
���� ���� y ���� ��� ���� 1, 2, ..., [x]� '��
� � ����������� ��� �
�
�
����
� ������� ����� ������
���� ��� ���� 2, 3, ..., pn� ���� ��	
 ������ ����
������������ ��� y 
���� ≤ y ≤ x� $���

y = 2i3j · · · ph
n

!�� ������ i, j, ..., h� '��
� �
���

2i+j+···+h ≤ y ≤ x ≤ 2m ,

����

i+ j + · · · + h ≤ m

���� 
��
�����
0 ≤ i, j, ..., h ≤ m .

$��� �� y 
���� ���� ��� ���� ������
����� ��� �������� ��������� �	���#
�
�����

$���

∑
0≤i,j,...,h≤m

1
2i3j · · · ph

n

≥ 1 +
1
2

+
1
3

+ · · · + 1
[x]

≥ log(x + 1)

���� 
��
�����(
1 − 1

2

)−1(
1 − 1

3

)−1

· · ·
(
1 − 1

pn

)−1

≥ 1 +
1
2

+
1
3

+ · · · + 1
[x]

≥ log(x+ 1) .

�� ��
�������



Pn =
(
1 − 1

2

)−1(
1 − 1

3

)−1

· · ·
(
1 − 1

pn

)−1

,

���
 ����

 ����
�)
� ���
Pn ≥ log(x + 1) ,

���� n 
���� � 

!����
��� �������� ���
 pn ≤ x�
( {Pn} 
���� ��)���� ������	�� ���!
������ ���	
��� ����
� �� �
� ���#

����
� ��� +∞� ���
 �����
� M ���


Pn ≤M



�.

!�� ��	
 n�
���� ���
��!
��� ���

log(x+ 1) ≤M

!�� ��	
 x ≥ 2� ���!
� ��� 
���� ������ $���

Pn → +∞ .

B�C -����&��

 ���� !�� 0 ≤ u < 1� ����
� �� ������!
�-Taylor

log
1

1 − u
= u+

u2

2
+
u3

3
+
u4

4
+ · · · ,

����


log
1

1 − u
≤ u+

u2

2
+
u3

2
+
u4

2
+ · · · = u+

u2

2(1 − u)
.

"����

 u = 1
p ��� �������



log
(
1 − 1

p

)−1

≤ 1
p

+
1

2p(p− 1)
.

3���	������� !�� p = 2, 3, ..., pn �����!�&��



logPn ≤ 1
2

+
1
3

+ · · · + 1
pn

+
1
2

( 1
2(2 − 1)

+
1

3(3 − 1)
+ · · · + 1

pn(pn − 1)

)
=

1
2

+
1
3

+ · · · + 1
pn

+
1
2

(
1 − 1

2
+

1
2
− 1

3
+ · · · + 1

pn − 1
− 1
pn

)
≤ 1

2
+

1
3

+ · · · + 1
pn

+
1
2
.

�� ��
�������



Sn =
1
2

+
1
3

+ · · · + 1
pn

,

���
 ����

 ����
�)
� ���

Sn ≥ log log(x+ 1) − 1
2
,

���� n 
���� � 

!����
��� �������� ���
 pn ≤ x�
( {Sn} 
���� ��)���� ������	�� ���!
������ ���� ���� ����!��
���� !��

��� {Pn}� ����
����
��� ���
Sn → +∞ .

����	����� �� σ > 1� � �
���
∑+∞

n=1
1

pσ
n
��!����
�� ���� � 

!����
�� �
���∑+∞

n=1
1

nσ ��!����
�� ,
 ��!� 	� ����
�)��

 ���� �� σ > 1� ���
 ��� �� ��
���#

!���

��
∏+∞

k=1(1 − 1
pσ

k
)−1 ��!����
��
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������� ��
  !��� f : N → C� 5 f ���
�(���� ����������������� �� ��� �����
� 
������� ��������� ��� ������

f(mn) = f(m)f(n)

��� ���� m,n ∈ N 
� gcd(m,n) = 1�

5 f ���
�(���� �����
#���������������� �� ��� ����� � 
������� ���������
��� ������ � ���� ��	���� ��� ���� m,n ∈ N�

�� � f 
���� ��������������� ��� f(1) = 0� ���
 f(n) = f(1)f(n) = 0 !��
��	
 n� ���� ��������
� 

 ��� ����
�� ����
 f(1) �= 0� '���� f(1) = f(1)f(1)
���� 
��
�����

f(1) = 1 .

���!���"�� 
� ( ��������� 

 ���� f(n) = 1
ns , s ∈ C, 
���� �� ���#

��������������� �

�������"�� �� ( ��������� ϕ ��� "
����� ���	
�� # ���� ϕ(n) 
����
�� �� 	�� ��� ������� �� ������ 
���� ≤ n ��� ��
���� ������ 

 �� n # 
����
��������������� B���� ��� �� ���#��������������� C ����������

������� ���  !��� ���������������� f ��� ���� 	�� � �����
∑+∞

n=1 f(n) ��#
������� �������
� %	�� ������ 	��

+∞∑
n=1

f(n) =
+∞∏
k=1

(
1 + f(pk) + f(p2

k) + f(p3
k) + · · ·) .

"�� ��������� � f ����� �����
#����������������� �	�� ������ 	��

+∞∑
n=1

f(n) =
+∞∏
k=1

(
1 − f(pk)

)−1
.

�
�������

$%��� ����� N ∈ N�
�� k 
���� � 

!����
��� �������� ���
 pk ≤ N ��� m 
���� ������� ���


�������� ���
 2m ≥ N � ���


k∏
l=1

(
1 + f(pl) + · · · + f(pm

l )
)

=
∑

0≤i,j,...,h≤m

f(2i)f(3j) · · · f(ph
k)

=
∑

0≤i,j,...,h≤m

f
(
2i3j · · · ph

k

)
.

3��������

 �� 
) �



�0

.� ���

�� ��� !���

�� ��� 

����&����� ��� �
�
����� �	����
� �
����
#
�������� ���� �� ���	
�� 1, 2, ..., N �

3��!
���� ���� 1 ≤ y ≤ N �

'��
 ��	
 ������ ��� ��������� ���� ������������ ��� y ��� !���

��
������ 
���� ≤ y ≤ N ���� 
��
����� 
���� ���� ��� ����

2, 3, ..., pk .

$��� � y !���
���
y = 2i3j · · · ph

k

!�� ������ i, j, ..., h ≥ 0� '��
� �
���

2i+j+···+h ≤ y ≤ N ≤ 2m .

$���
i+ j + · · · + h ≤ m

���� 
��
�����
0 ≤ i, j, ..., h ≤ m .

�� :�����
����� 
����!�� ��� i, j, ..., h ������ ������
����� ��
�� ��� !���

��
2i3j · · · ph

k � ��!� ��� 
������������ ��� ������������� ������� ���
 ���	#

�� ��� !���

�� �������

��� �� .� ��� �� �������

 ���

(†)
∣∣∣ k∏

l=1

(
1 + f(pl) + · · · + f(pm

l )
) − N∑

n=1

f(n)
∣∣∣ ≤ +∞∑

n=N+1

|f(n)| .

%�
�� �
∑+∞

n=1 f(n) ��!����
� ��������� ���
��!
��� ���� !�� ��	
 p� � �
���


 ��!��
���� ����� 1 + f(p) + f(p2) + · · · ��!����
��

%�
�� � (†) ����
� !�� ��	
 m 

 2m ≥ N � �� ���

 �� m �� �
��
� ��� +∞
��� �������



(‡)
∣∣∣ k∏

l=1

(
1 + f(pl) + f(p2

l ) + · · ·) − N∑
n=1

f(n)
∣∣∣ ≤ +∞∑

n=N+1

|f(n)| ,

���� k 
���� � 

!����
��� �������� ���
 pk ≤ N �
'��� 
����!��

 N = pk ��� �� ���

 �� k �� �
��
� ��� +∞� '��


N = pk → +∞
��� � �
)�� ��
��� ��� (‡) �
��
� ��� ?� $���

+∞∏
l=1

(
1 + f(pl) + f(p2

l ) + · · ·) =
+∞∑
n=1

f(n) .
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�� � f 
���� �� ���#��������������� � ���
 !�� ��	
 p

1 + f(p) + f(p2) + f(p3) + · · · = 1 + f(p) + f(p)2 + f(p)3 + · · ·

���� 
�
�� � �
��� ��!����
� ��������� ���
��!
���

|f(p)| < 1

���� 
��
�����

1 + f(p) + f(p2) + f(p3) + · · · =
(
1 − f(p)

)−1
.

$���� �� � f 
���� �� ���#��������������� � ���


+∞∑
n=1

f(n) =
+∞∏
k=1

(
1 − f(pk)

)−1
.

,�� 
) � 	� �����
������

 �� ��
���� Πσ !�� �� �
)�� �
�
���
��

Πσ = {s ∈ C : 
s > σ} .

�� 
s > 1� ���
 � �
���
+∞∑
n=1

1
ns

��!����
� ��������� $��� ��!����
� �
 
�!����� ���	
� ��� ����� � ���	
��

)�������� ��������� ��� �� s�

������� ��� 5 ��������� ζ : Π1 → C 
� ����

ζ(s) =
+∞∑
n=1

1
ns

, s ∈ Π1 ,

���
�(���� ζ−��������� ��� Riemann �

������� ��
 $%���
 ��� Euler & 6����� 	��

ζ(s) =
+∞∏
k=1

(
1 − 1

ps
k

)−1

��� ���� s ∈ Π1�

�
�������
%���
�&��

 �� "
���
� ��� 

 ��� �� ���#��������������� ���������

f(n) = n−s�



�=

������� ��� 5 �����
∑+∞

n=1
1

ns �� ��������� �
��	
���� ��� Π1�

�
�������
$%��� ��� � �
��� ��!����
� �
���
���� ��� Π1�
'��
 !�� ε = 1 �����
� n0� ������ ���


∣∣∣ l∑
n=k

1
ns

∣∣∣ < 1

!�� ��	
 k, l 

 n0 ≤ k < l ��� !�� ��	
 s ∈ Π1�
,��	
���������� �� k, l ��� ���������� ���� ���� s→ 1� �������

 ���

l∑
n=k

1
n
≤ 1

!�� ��	
 k, l ≥ n0�
3���������� ����� ���� ���� l → +∞� �������



+∞∑
n=k

1
n
≤ 1

!�� ��	
 k ≥ n0� 9���� !��

� ����� �
 ������ ����� � �
���

+∞∑
n=k

1
n

�������
� ��� +∞�

������� ��� 5 �����
∑+∞

n=1
1

ns ��������� �
��	
���� ��� Πσ0 ��� ���� σ0 > 1�
!����
� � ����� ��������� �
��	
���� �� ���� ��
����
 ��������� ��� Π1�

�
�������
-�� ��	
 s = σ + iτ ∈ Πσ0 ����
�∣∣∣ 1

ns

∣∣∣ =
1
nσ

≤ 1
nσ0

.

%�
�� � �
���
∑+∞

n=1
1

nσ0 ��!����
�� ��� ��M−test ��� Weierstrass B"
���#


� .�0C ���
��!
��� ��� � �
���
∑+∞

n=1
1

ns ��!����
� �
���
���� ��� Πσ0 �
$%���� ����� ������ ���
 ��
��!�� K ⊆ Π1� '��
 �����
� σ0 > 1 ���


K ⊆ Πσ0 .

��� �� ����� 
���� ���
��!
��� ��� � �
��� ��!����
� �
���
���� ��� K�
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������� ��� 5 ζ−��������� ��� Riemann ����� ��������� ��������� ���
Π1�

�
�������
-�� ��	
 n � ��������� 1

ns 
���� �������� ��������� ��� s ��� C�
%�
�� � ��!����� ��� �
���� ��� ������ �
�� ����� 
����� ��� ��� 3��#

���� ��0� �
���
���� �
 ��	
 ��
��!�� ��������� ��� Π1� ���
��!
��� ��� ��
"
���
� .�� ��� � ��������� ��� ���&
� � �
���� ����� � ζ−��������� ���
Riemann � 
���� �������� ��������� ��� Π1�

%���
�&��

 ��� ���� ��� Abel B"
���
� .�..C !��

λn = n, zn = 1, ϕ(x) =
1
xs

,

����


A(x) =
∑

n: λn≤x

zn =
[x]∑

n=1

1 = [x] .

( ϕ ��
� ���
� ����!�!� ��� [1,+∞) ���� �� s = σ + iτ ∈ Π1� ���
 !��
��	
 x ∈ [1,+∞)

|A(x)ϕ(x)| =
[x]
xσ

≤ x+ 1
xσ

≤ 2
xσ−1

→ 0

���� x→ +∞�
$��� limx→+∞A(x)ϕ(x) = 0 ��� 
��
����

(�) ζ(s) = s

∫ +∞

1

[t]
ts+1

dt , s ∈ Π1 .

A�
�	�
�&��

 �� ��
�����
�

{t} = t− [t] , t ∈ R ,

��� ���� ��������
0 ≤ {t} < 1

!�� ��	
 t ∈ R�

������� ��� %� ��������
�

G(s) =
∫ +∞

1

{t}
ts+1

dt

��������� ��� ���� s ∈ Π0 ��� ���(�� ��������� ��������� ��� Π0�

�
�������
$%��� ������ ���
 s = σ + iτ ∈ Π0� '��
 σ > 0� ����
∫ +∞

1

∣∣∣ {t}
ts+1

∣∣∣ dt ≤ ∫ +∞

1

1
tσ+1

dt < +∞ .



�1

$��� �� ����� ��
� ��� ���&
� ��� G(s) ��!����
� !�� ��	
 s ∈ Π0�
���&��



Fk(s) =
∫ k+1

k

{t}
ts+1

dt =
∫ k+1

k

t− k

ts+1
dt

��� ��� �� "
���
� .�/ ���
��!
��� ��� � Fk 
���� �������� ��� C�
%���� ���
�� ���

G(s) =
+∞∑
k=1

Fk(s)

����
� ��
���� 

 �� "
���
� .��� ���
� �� ����
�)��

 ��� � �
��� ��!����
�
�
���
���� �
 ��	
 ��
��!�� ��������� ��� Π0�

$%��� ��
��!�� K ⊆ Π0�
'��
 �����
� σ0 > 0 ���


K ⊆ Πσ0 .

$���� !�� ��	
 s = σ + iτ ∈ K ����
� ���

∣∣Fk(s)
∣∣ ≤ ∫ k+1

k

∣∣∣ {t}
ts+1

∣∣∣ dt ≤ ∫ k+1

k

1
tσ0+1

dt =
1
σ0

( 1
kσ0

− 1
(k + 1)σ0

)
.

$�
��
+∞∑
k=1

1
σ0

( 1
kσ0

− 1
(k + 1)σ0

)
=

1
σ0

< +∞

��� ��� �� M #test ��� Weierstrass ���
��!
��� ��� �
∑+∞

k=1 Fk ��!����
� �
���#

���� ��� K�

���&��

� ����� ��������� H : Π0 \ {1} → C 

 ����

H(s) =
s

s− 1
− sG(s) , s ∈ Π0 \ {1} .

������� ��� 5 ��������� H ����� 
��	
���� ��� Π0�  !��� ��� 
������	 ���	
�	�� ��� ��
��� s = 1 
� residue = 1 ��� ��
��� ���	�

�
�������
'� ��
�����
� 
���� �

�� ��� ��� 3������ ��=�

� ����� (�) ��
� ��� �� ������ �
�� ζ ��� H �����&����� ��� Π1� 3��!
����
�� s ∈ Π1� ���


ζ(s) = s

∫ +∞

1

[t]
ts+1

dt = s

∫ +∞

1

t− {t}
ts+1

dt

= s

∫ +∞

1

1
ts
dt− s

∫ +∞

1

{t}
ts+1

dt =
s

s− 1
− sG(s) = H(s) .

$��� � ��������� H 
���
� �� 	
���	
� 
������� ��� ζ ��� 

!����
�� �
���
����
�� Π0�



�/ ��������� �	 
 ζ�
������


 ��� RIEMANN

-�$ ����� �� ��!� 	� ��
����&��

 ��� H 

 �� ��
���� ζ ��� 	� 	
����


�� ζ−��������� ��� Riemann 
�
��
��
��� ��� 

!����
�� �
��� ����
�� Π0�

'� 
��

�� 	
���
� ����!���
� �� 
���� ���� ����
���
���� 3���
� ��
��	
� ������ ��� ������ ��� ����� ����
� � ��	
 ������

������� ��� 5 ζ−��������� ��� Riemann ����� 
��	
���� ��������� ��� s
��� ������ Π0� ���� ��� 
������	 ���	 �	�� ��� ��
��� s = 1 
� residue = 1
��� ��
��� ���	 ��� �� 
�����(���� �� ������ ��
��� ��� Π1�

!����
 ������� �� �����

(1) ζ(s) =
s

s− 1
− s

∫ +∞

1

{t}
ts+1

dt , s ∈ Π0

(2) ζ(s) = s

∫ +∞

1

[t]
ts+1

dt , s ∈ Π1

(3) ζ(s) =
+∞∑
n=1

1
ns

, s ∈ Π1

(4) ζ(s) =
+∞∏
k=1

(
1 − 1

ps
k

)−1

, s ∈ Π1 .

�
�������
� ����� B0C �
� 
���� �����
 ���� ��� ��� ����
� ���� � ����� B7C 
���� �

����� ��� Euler B3������ ��.C ��� � ����� B�C 
���� � ����� (�)� '����� �
����� B.C 
���� � ����
�� ��� ���������� H �

'� ��� � ζ 
���� 

��
���� ��� Π0 

 
������� ���� ���� ��� s = 1 


residue = 1 �������
� ��� ��� 3������ ��> ��� �� ������ ��� ��� ������	�����

'� ��� ζ(s) �= 0 !�� ��	
 s ∈ Π1 ����
����
��� ��� ��� ���� B7C ��� ���
��� 3���� ���� 

�� ��� ��� ����
� .�.� ���� ������� ���� (1 − 1

ps
k
)−1 ���

��
���#!���

��� �
� 
��
��&
����



�������� 


������-Dirichlet

������� ��
 '� �����
-Dirichlet ����� �����
 ��
 
����


+∞∑
n=1

an

ns


� 
��������
 ����������
 an�

( �
��� ��� ���&
� �� ζ−��������� ��� Riemann 
���� �����
�!
� �
����-
Dirichlet 

 an = 1 !�� ��	
 n�

������� ��
  !��� 	�� �
∑+∞

n=1
an

ns ��������� ��� ������ s = s0� %	��� ��� ����
θ 
� 0 < θ < π

2 � � ����� ��������� �
��	
���� ���� ����� �����

Γ(s0; θ) = {s : | arg(s− s0)| < θ}.

�
�������

$%��� s = σ + iτ ∈ Γ(s0; θ), s0 = σ0 + iτ0 ��� 	����



bn =
an

ns0
,

����
 �
∑+∞

n=1 bn ��!����
�� %����� 	����



rn =
+∞∑
k=n

bk ,

����


rn → 0

���� n→ +∞�

�<
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$%��� ε > 0 ��� 	
����

 n0 = n0(ε)� ���
 |rn| < ε ���� n ≥ n0� '��
� ��
n0 ≤ m < m′+∣∣∣ m′∑

n=m

an

ns

∣∣∣ =
∣∣∣ m′∑
n=m

bn
ns−s0

∣∣∣ =
∣∣∣ m′∑
n=m

rn − rn+1

ns−s0

∣∣∣
=

∣∣∣ m′∑
n=m

rn
ns−s0

−
m′+1∑

n=m+1

rn
(n− 1)s−s0

∣∣∣
=

∣∣∣ rm
ms−s0

− rm′+1

m′s−s0
+

m′∑
n=m+1

rn

( 1
ns−s0

− 1
(n− 1)s−s0

)∣∣∣
≤ |rm|

mσ−σ0
+

|rm′+1|
m′σ−σ0

+
m′∑

n=m+1

|rn||s− s0|
∣∣∣∫ n

n−1

dt

ts−s0+1

∣∣∣
≤ |rm| + |rm′+1| +

m′∑
n=m+1

|rn||s− s0|
∫ n

n−1

dt

tσ−σ0+1

≤ ε+ ε+
m′∑

n=m+1

|rn| |s− s0|
σ − σ0

( 1
(n− 1)σ−σ0

− 1
nσ−σ0

)

≤ 2ε+
ε

cos θ

m′∑
n=m+1

( 1
(n− 1)σ−σ0

− 1
nσ−σ0

)

= 2ε+
ε

cos θ

( 1
mσ−σ0

− 1
m′σ−σ0

)
≤ 2ε+

ε

cos θ
1

mσ−σ0

≤ ε
(
2 +

1
cos θ

)
.

��� �� ���� ��� ��� Cauchy ���
��!
��� ��� � �
��� ��!����
� �
���
����
��� Γ(s0; θ).

������� ��� "� � �����
∑+∞

n=1
an

ns ��������� �� ������ s0 = σ0 + iτ0� �	�� �
����� ��������� �� ���� ��
��� ��� �������� �
��������� Πσ0 �

!����
� � ����� ��������� �
��	
���� �� ���� ��
����
 ��������� ��� Πσ0

���� ���
���
� ���(�� ��������� ��������� ��� �
�������� ���	�

�
�������
$%��� ��
��!�� K ⊆ Πσ0 = {s : σ = 
s > 
s0 = σ0}.
%���� !
�

����� ���
�� ��� �����
� θ 

 0 < θ < π

2 � ���


K ⊆ Γ(s0; θ).

��� ��� 3������ 0�. ���
��!
��� ��� � �
��� ��!����
� �
���
���� ���
Γ(s0; θ)� ����
 ��!����
� �
���
���� ��� ��� K ��� 
��
���� � �����������#
�� ��� ���������� ��� ���&
��� ��� �� �
��� �������
� ��� �� "
���
� .��� (
���� ��

�� ��!����� 
����� ����� ������ ��
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������� ��
 7�� ���� �����-Dirichlet ������� α ∈ R ∪ {+∞,−∞} ����

+� � ����� ��������� �� ���� ��
��� ��� �
��������� Πα = {s : 
s > α} ���
��������� �
��	
���� �� ���� ��
����
 ��������� ��� �
��������� ������
!��
���
� ���(�� ��������� ��������� ��� Πα�

,� � ����� ��������� �� ���� ��
��� ��� �������� �
��������� {s : 
s < α}�

7�� ��� ������ {s : 
s = α} ��� ������� �����	 ��
�����
��

B,�

����+ �� α = +∞  −∞� ���
 �� ��� �
�
���
�� 
���� �
�� ��� �� ����

���� �� C�C

�
�������
�� � �
��� ��!����
� �
 ��	
 s ∈ C� ���
 ����
� �� .� ��� 

 �
���

���

����� �� �� ���������� α = −∞� 3��!
���� �� K 
���� ������ ���
 ��
��!���
���
 �����
� σ0 ���
 �� K �� �
����
��� ��� ������� �
�
���
�� Πσ0 � ���
��� 3������ 0�� ���
��!
��� ��� � �
��� ��!����
� �
���
���� ��� K� ����
��!����
� ��� ��

�� s = σ0�

�� � �
��� �������
� �
 ��	
 s ∈ C� ���
 ������� �� .� ��� �� 

 �
���

���
������ �� 	����

 α = +∞�

6��
� �� 
)
�����

 ��� �
������� ��� � �
��� ��!����
� �
 ������ s1 =
σ1 + iτ1 ��� �������
� �
 ������ s2 = σ2 + iτ2�

��� ��� 3������ 0�� ���
��!
��� ��� � �
��� ��!����
� �
 ��	
 ��

�� ���
Πσ1 B��� �
���
���� �
 ��	
 ��
��!�� ��������� ��� Πσ1C� ����
 ����

 ���
σ2 ≤ σ1�

:��������

� ����� ��� �
������
��

.� σ2 = σ1�

�� �� ��
 s 

 
s < σ2 ��� ����� � �
��� ��!����
�� ��� ��� 3������
0�� 	� 
���

 ��� � �
��� ��!����
� ��� ��� s2� ���� 
���� ������ ����
 ��
	
���
� ����
� �� 	����

 α = σ2 = σ1�

�� σ2 < σ1�

'��
� ���� ����!��
����� ���
��!
��� ��� � �
��� �������
� �
 ��	

��

�� ��� {s : 
s < σ2}�
$%���

T = {t : σ2 ≤ t, � �
��� ��!����
� �
 ��	
 s 

 
s > t} .

'� T 
���� 
�#�
�� B���� σ1 ∈ T C� ����
 	����



α = infimum(T ) .

"� �
�)��

 ��� �� 	
���
� ����
� 

 ��� � ��� 
����! ��� α�

$%��� ��
��!�� K ⊆ Πα� '��
 �������� t1, t2 



α ≤ t2 < t1, t2 ∈ T ��� K ⊆ Πt1 .
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��� ��� ����
� ��� T ���
��!
��� ��� � �
��� ��!����
� ��� ��

�� t1�
����
 ��� ��� 3������ 0�� ���
��!
��� ��� � �
��� ��!����
� �
���
����
��� K�

%������ �� � �
��� ��!����
� �
 ������ s 

 t = 
s < α� ���
� ���
��� 3������ 0�� ���
��!
��� ��� t ∈ T ��� ���� 
���� ����� ���� α =
infimum(T ).

������� ��� %� α� ��� ������ ��� ����3� �3������(�� �� 4����
� -�+� ���
�(�#
��� ���
�
��� ��������
 ��
 �����
-Dirichlet �

%� �
�������� Πα = {s : 
s > α} ���
�(���� �
�������� ��������
� ��� ��
�
�������� {s : 
s < α} ���
�(���� �
�������� ��	�����
 ��
 �����
-Dirichlet �

-�� ���
��� �
���-Dirichlet
+∞∑
n=1

an

ns



 �
�
�
��� ��!������ α� � �
���

+∞∑
n=1

|an|
ns


����� 
������ �
���-Dirichlet � %��
���� ��� �$ ��� � ���������
� � �
�
�
���
��!���� � ���� α0� "� ���

� ����� ��� ������
�
� !�� �� ��
��� 	��� ���
α, α0�

$%��� ����� σ > α0� '��
 � �
���
∑+∞

n=1
|an|
nσ ��!����
� ���� 
��
����� �

�
���
∑+∞

n=1
an

nσ ��!����
�� $��� σ ≥ α� �
���� ���
��!
��� ���

α0 ≥ α .

$%���� ����� ����� σ > α� '��
 � �
���
∑+∞

n=1
an

nσ ��!����
�� ����


an

nσ
→ 0

���� n→ +∞� $��� �����
� M > 0 ���


|an|
nσ

≤M

!�� ��	
 n� %��
����� !�� ��	
 ε > 0 ����



+∞∑
n=1

|an|
nσ+1+ε

≤M

+∞∑
n=1

1
n1+ε

,

����
 � �
���
∑+∞

n=1
|an|

nσ+1+ε ��!����
�� $���

σ + 1 + ε ≥ α0 .



00

���� ���� ����
� !�� ��	
 ε > 0� ���
��!
��� ��� σ ≥ α0 − 1� ,�
�
������

�
������� ���

α ≥ α0 − 1 .

$��� ����
��	��
 �

������� ��� α ≤ α0 ≤ α+ 1 ��� ���� �����-Dirichlet �

������� ��� %� α0 ���
�(���� ���
�
��� ��	����
 ��������
 ��
 �����
-
Dirichlet.

%� �
�������� Πα0 = {s : 
s > α0} ���
�(���� �
�������� ��	����
 ��#
������
 ��� �� �
�������� {s : 
s < α0} ���
�(���� �
�������� ��	����
 ��	#
�����
 ��
 �����
-Dirichlet �

5 �����	���� (��� {s : α < 
s < α0}� �� ��� ����� ����� ���
�(���� (���
��	#�������� ��������
 ��� ����� ������
 
���3� . ��� +�

���!���"�� 
� -�� �� �
���

+∞∑
n=1

1
ns

� ����� ���&
� �� ζ−��������� ��� Riemann � �
�
�
��� ��!������ ��� � �
�
�#

��� �������� ��!������� ��������� �����&����� ��� α = α0 = 1� ���� � �
���
��!����
� �� s ∈ R ��� s > 1 ��� �������
� �� s ∈ R ��� s ≤ 1�

���!���"�� �� -�� �� �
���

+∞∑
n=1

(−1)n

ns

� �
�
�
��� �������� ��!������ 
���� α0 = 1� ����
∑+∞

n=1
|(−1)n|

ns =
∑+∞

n=1
1

ns �
$�
�� � �
�
�
��� ��!������ 
���� α = 0�
3��!
���� !�� ��	
 σ > 0 �

∑+∞
n=1

(−1)n

nσ ��!����
�� ����� 
���� �
��� 

 �����
��� �	����� ���� �� ? ��� 

 
��������

�� �����
��

%�������� �� σ = 0� � �
��� !��
���
∑+∞

n=1(−1)n ��� �������
��

������� ���  !��� �����-Dirichlet
∑+∞

n=1
an

ns 
� ���
�
��� ��������
 α ∈ R�
"�	 �� 4����
� -�+ ����������� 	�� � ����� ���(�� ��������� ���������

f(s) =
+∞∑
n=1

an

ns

��� �
�������� Πα�
 !��� s0 
� 
s0 = α�
%	�� �� s0 ���
�(���� �������	 ��
��� ��
 f � �� ������� δ > 0 ���� � f ��

������������ ��� ��������� ��������� ���

Πα ∪ ∆(s0; δ) ,

	��� ∆(s0; δ) ����� � ������	
 �����
 
� ������ s0 ��� ������ δ�
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������� ��� $Landau & "� an ≥ 0 ��� ���� n ��� α ∈ R ����� � ���
�#

��� ��������
 ��
 �����


∑+∞
n=1

an

ns � �	�� �� α ��� ����� �������	 ��
��� ��

���������
 f ��� ���(���� ��	 �� ����� ��� Πα�

�
�������
$%��� ��� �� α 
���� �������� ��

�� ��� f �
'��
 �����
� δ > 0 ���
 � f �� 
�
��
��
��� ��� �������� ��������� ���

Ω = Πα ∪ ∆(α; δ) .

"
����

 ���!
����� ���	
� 

!����
�� ��� α� -�� �����
�!
� ��� α + 1�
'���� � f ��������
��� ��� �
���-Taylor ��� 

!����
�� ����� 

 ������ α+1
� ������ �
����
��� ��� Ω� $�
��� 
���� !
�

����� �������� ��� � ������ �����
�
����
� ������� ���!
����� ���	
� σ < α�

%��
����� !�� ���� �� σ � �
���-Taylor ���
�

f(σ) =
+∞∑
m=0

f (m)(α+ 1)
m!

(σ − α− 1)m .

%�
�� �� α + 1 �
����
��� ��� �
�
���
�� ��!������ ��� �
����-Dirichlet �
���
��!
��� ��� �� "
���
� .�� ��� !�� ��	
 m

f (m)(α+ 1) =
+∞∑
n=1

(− logn)man

nα+1
.

��� ��� ����
�� ����� �������



f(σ) =
+∞∑
m=0

(σ − α− 1)m

m!

(+∞∑
n=1

(− logn)man

nα+1

)

=
+∞∑
m=0

(+∞∑
n=1

(σ − α− 1)m

m!
(− logn)man

nα+1

)

=
+∞∑
m=0

(+∞∑
n=1

[(α+ 1 − σ) log n]man

m! nα+1

)
B������������ ��� ���� �� ���� ��� �
�
������ �	����
���� 
���� 
�#��������� ���

���
�&����� �� "
���
� .�..C

=
+∞∑
n=1

an

nα+1

(+∞∑
m=0

[(α+ 1 − σ) log n]m

m!

)

=
+∞∑
n=1

an

nα+1
e(α+1−σ) log n

=
+∞∑
n=1

an

nα+1
nα+1−σ

=
+∞∑
n=1

an

nσ
.



0=

,�
�
������

 ��� ��
∑+∞

n=1
an

nσ ������� 

 �� 
�!����� ���	
� f(σ)� ����

���� ������ ����� � ���	
�� σ �
����
��� ��� �
�
���
�� ��������� ��� �
����-
Dirichlet.

������� ��� $7��	
��� ������-Dirichlet. &  !���

+∞∑
n=1

an

ns
,

+∞∑
n=1

bn
ns

��� �����
-Dirichlet �� �����
 ���������� �������
 ��� ���� ��
��� s0�
"� ������
�

cn =
∑

k,k′ : kk′=n

akbk′

��� ���� n ∈ N� �	�� � �����-Dirichlet

+∞∑
n=1

cn
ns

��������� �������
 ��� s0 ���

+∞∑
n=1

an

ns0

+∞∑
n=1

bn
ns0

=
+∞∑
n=1

cn
ns0

.

�
�������
B8C -�� N ∈ N ����



N∑
n=1

an

ns0

N∑
n=1

bn
ns0

=
∑

1≤k,k′≤N

akbk′

(kk′)s0
.

�
��������

� ����� ���� ����� ��� �
�
������ �	����
���� �����!� 

 ���
��
�� ��� n = kk′� ������������ ���

.� �� 1 ≤ n ≤ N � ���
 ��� �	����
� ���� 

����&����� ��� �� &
�!���� k, k′



 kk′ = n ���� 
��
����� �� ����	����

 ���� ������������ ����� 	�
�����

 �� cn

ns0 �

�� �� N +1 ≤ n ≤ N2 B�� !���

�� kk′ �
 
���
� �� ��
��
� �� N2C� ���
 ��
kk′ = n ���
��!
��� ��� ��� ����������� ��� �� k, k′ 
���� ≥ [

√
N + 1]�

$���

∣∣∣ N∑
n=1

an

ns0

N∑
n=1

bn
ns0

−
N∑

n=1

cn
ns0

∣∣∣ ≤
∑

k,k′: k,k′≤N ��� k≥[
√

N+1]  k′≥[
√

N+1]

∣∣∣ akbk′

(kk′)s0

∣∣∣
≤

∑
k,k′: 1≤k≤N,[

√
N+1]≤k′≤N

∣∣∣ akbk′

(kk′)s0

∣∣∣



0> ��������� �	 
�����
-DIRICHLET

+
∑

k,k′: 1≤k′<[
√

N+1],[
√

N+1]≤k≤N

∣∣∣ akbk′

(kk′)s0

∣∣∣
=

N∑
k=1

∣∣∣ ak

ks0

∣∣∣ N∑
k′=[

√
N+1]

∣∣∣ bk′

k′s0

∣∣∣

+
N∑

k=[
√

N+1]

∣∣∣ ak

ks0

∣∣∣ [
√

N+1]∑
k′=1

∣∣∣ bk′

k′s0

∣∣∣
≤

+∞∑
k=1

∣∣∣ ak

ks0

∣∣∣ +∞∑
k′=[

√
N+1]

∣∣∣ bk′

k′s0

∣∣∣
+

+∞∑
k=[

√
N+1]

∣∣∣ ak

ks0

∣∣∣ +∞∑
k′=1

∣∣∣ bk′

k′s0

∣∣∣ .
�� ������ �� N �� �
��
� ��� +∞ �������

 ��� � �
�
����� ��������� �
��
�

��� ?� ����

+∞∑
n=1

an

ns0

+∞∑
n=1

bn
ns0

=
+∞∑
n=1

cn
ns0

.

B88C �� s0 = σ0 + iτ0� ���
 � ������� ��!����� ��� �
���� �������

� 

 ��
��!����� ���

+∞∑
n=1

|an|
nσ0

,

+∞∑
n=1

|bn|
nσ0

.

���&��



dn =
∑

k,k′: kk′=n

|ak||bk′ |

��� ����

 �
���� ��� ∣∣∣ cn
ns0

∣∣∣ ≤ dn

nσ0

!�� ��	
 n�
$���� �� 
���
����

 �� 
���� B8C� �������



+∞∑
n=1

∣∣∣ cn
ns0

∣∣∣ ≤ +∞∑
n=1

dn

nσ0
=

+∞∑
n=1

|an|
nσ0

+∞∑
n=1

|bn|
nσ0

< +∞

��� 
��
���� �
∑+∞

n=1
cn

ns0 ��!����
� ���������



�������� �

�����	����

������� ��
  !��� G �������
��� �)������ �
��� ��� ���� χ̂ : G→ C 
� ��

���	����


+� χ̂(ab) = χ̂(a)χ̂(b) ��� ���� a, b ∈ G
,� χ̂ ��� ����� � 
������� ����������
%	�� � χ̂ ���
�(���� ���������
 ��
 G�

������� ��
  !��� ���������
 χ̂ ��
 �������
���
 �)������
 �
���
 G�
+� "� e ����� �� 
�������� �������� ��
 G� �	�� χ̂(e) = 1�
,� 7�� ���� a ∈ G ������ χ̂(a) �= 0�
-� χ̂(a−1) = χ̂(a)−1 ��� ���� a ∈ G�
/� "� m ����� � ��3� ��
 G� �	�� ��� ���� a ∈ G �� χ̂(a) ����� m#���� ��(�

��
 
�����
�
8� |χ̂(a)| = 1 ��� ���� a ∈ G�

�
������
.� $%��� a0 ∈ G ���
 χ̂(a0) �= 0� '��


χ̂(a0) = χ̂(a0e) = χ̂(a0)χ̂(e) .

$��� χ̂(e) = 1�
�� �� !�� ������ a ∈ G 
���� χ̂(a) = 0� ���


1 = χ̂(e) = χ̂(aa−1) = χ̂(a)χ̂(a−1) = 0 .

$������
0� ��� ��� ����!��

�� �����!��
� ����

 �
���� ���

1 = χ̂(a)χ̂(a−1)

���� 
��
�����
χ̂(a−1) = χ̂(a)−1

!�� ��	
 a ∈ G�

01



0/ ��������� �	 �������
��


7� %�
�� am = e !�� ��	
 a ∈ G� ���
��!
���

χ̂(a)m = χ̂(am) = χ̂(e) = 1 .

=� ��� ��� ����!��

�� ����� �������

 |χ̂(a)|m = 1� ����


|χ̂(a)| = 1 .

$��� ��	
 ������ ��� 
���� ���������

χ̂ : G→ T ,

���� T = {z ∈ C : |z| = 1}.
'� ������ T 
���� �
��� 

 ��� ���)� ��� ������������
�� 
�!������ ���	#


�� ��� ���������

 ��� � ����
�� ��� ������ �� �������

� 

 �� ��� � χ̂ 
����
�
�
�����
�� �
�����

������� ��� 1� χ̂1 ��
)���(��
� �� ��������� 
� ����

χ̂1(a) = 1 , a ∈ G .

%�� χ̂1 ���
�(��
� ����� ����������

1� Ĝ ��
)���(��
� �� ������ ��� ���������� ��
 G�

%���
� ��� Ĝ ���(��
� ���3� �
 �3�
2 ��� ���� χ̂, ψ̂ ∈ Ĝ � χ̂ψ̂ ����� �
���������
 
� ����

(χ̂ψ̂)(a) = χ̂(a)ψ̂(a) , a ∈ G .

'� ��� � χ̂ψ̂ 
���� �����
�� ��� Ĝ� ����� ������ ��� ��� G� ����
����
���

�����+

(χ̂ψ̂)(ab) = χ̂(ab)ψ̂(ab) = χ̂(a)χ̂(b)ψ̂(a)ψ̂(b) = (χ̂ψ̂)(a)(χ̂ψ̂)(b)

!�� ��	
 a, b ∈ G ���� 
��������

(χ̂ψ̂)(e) = χ̂(e)ψ̂(e) = 1 ,

����
 � χ̂ψ̂ �
� 
���� � 
��
��� ����������

3��������

 ��� !�� ��	
 χ̂, ψ̂, ω̂ ∈ Ĝ+

.� (χ̂ψ̂)(a) = χ̂(a)ψ̂(a) = ψ̂(a)χ̂(a) = (ψ̂χ̂)(a) !�� ��	
 a ∈ G ���� 
��
�����

χ̂ψ̂ = ψ̂χ̂ .

�� [(χ̂ψ̂)ω̂](a) = (χ̂ψ̂)(a)ω̂(a) = χ̂(a)ψ̂(a)ω̂(a) = χ̂(a)(ψ̂ω̂)(a) = [χ̂(ψ̂ω̂)](a)
!�� ��	
 a ∈ G� ����


(χ̂ψ̂)ω̂ = χ̂(ψ̂ω̂) .



0<

0� (χ̂1χ̂)(a) = χ̂1(a)χ̂(a) = χ̂(a) !�� ��	
 a ∈ G� ����


χ̂1χ̂ = χ̂ .

7� �� ������

 χ̂−1 : G→ C 

 ����

χ̂−1(a) = (χ̂(a))−1 , a ∈ G ,

���
 (χ̂−1χ̂)(a) = χ̂−1(a)χ̂(a) = 1 = χ̂1(a) !�� ��	
 a ∈ G ���� 
��
�����

χ̂−1χ̂ = χ̂1 .

%������ � ��������� χ̂−1 
���� �����
�� ��� Ĝ� 3��!
����

χ̂−1(ab) = (χ̂(ab))−1 = (χ̂(a)χ̂(b))−1 = (χ̂(a))−1(χ̂(b))−1 = χ̂−1(a)χ̂−1(b)

!�� ��	
 a, b ∈ G ���

χ̂−1(e) = (χ̂(e))−1 = 1−1 = 1 .

������� ��
 7�� ���� �������
��� �)������ �
��� G �� ������ Ĝ ��� ����#
������ ��
 G �������� �������
��� �)������ �
��� ��� � ��3� ��
 ����� ��� 
�
��� ��3� ��
 G�

�
������

6���� ����!��
���� 
���

 ��� � Ĝ ����
�
� ��
���� �
��� 

 ��� ���)�
��� ����	��
� '� 
�������� �����
�� ��� 
���� � ������ ������ ��� χ̂1 ��� ��
���������� �����
�� ��� χ̂ 
���� �� χ̂−1� ���� ���� ����	��
 ��� 7� ��� �����

$%���

� 
��
����� �� ����
�)��

 ��� � Ĝ ��
� ��� ���� ��)� 

 ��� G�
0�������� +� $%��� ��� � G 
���� ������ ��)�� m 

 !
�� ���� a� :���� 

G = {a, a2, ..., am−1, am = e} .

9�	
 χ̂ ∈ Ĝ ��	���&
��� ��� ��� ��
 χ̂(a)� ���� ��� �� ����� χ̂(ak) =
(χ̂(a))k ���
��!
��� ��� ��	
 ��
 ��� χ̂ �������
� 
���� 
���� ��� ��� ��
 
χ̂(a)�

"
����

 �� ������

Λm = {ω, ω2, ..., ωm−1, ωm = 1}

��� m#����� ��&�� ��� 
������� ����

ω = cos
2π
m

+ i sin
2π
m

.

( 3������ 7�.B7C 
�� 
������
� �� ���
������

 ��� ��
�������

Ĝ→ Λm



7? ��������� �	 �������
��




 ����
χ̂ �→ χ̂(a)

��� 	� ����

 ���������
� ��� ����
�)�� �� ����
�)��

 ��� ��� � ��
�������

���� �
��
���� 
�����

$%��� χ̂, ψ̂ ∈ Ĝ ���
 χ̂(a) = ψ̂(a)�
'��


χ̂(ak) = (χ̂(a))k = (ψ̂(a))k = ψ̂(ak)

!�� ��	
 k ���� 
��
�����

χ̂ = ψ̂ .

$��� � ��
������� 
���� ���#����#����
$%��� η ∈ Λm�
���&��

 χ̂ : G→ T 

 ����

χ̂(ak) = ηk

!�� ��	
 k = 1, 2, ...,m�
'��
 χ̂(a) = η� ����
 
��
� �� ����
�)��

 ��� � χ̂ 
���� ������ ����
9��$ ��� � � χ̂� ��������� �
� 
���� � 
��
��� ���������� 9������� �� ak, al



 1 ≤ k, l ≤ m 
���� ������ ���
 �����
�� ��� G� ���������

 ��� �
������
��

.� �� k + l ≤ m� ���


χ̂(akal) = χ̂(ak+l) = ηk+l = ηkηl = χ̂(ak)χ̂(al) ,

�� �� m+1 ≤ k+ l ≤ 2m� ���
 ak+l = ak+l−m ��� 1 ≤ k+ l−m ≤ m� ����


χ̂(akal) = χ̂(ak+l) = χ̂(ak+l−m) = ηk+l−m = ηk+l = ηkηl = χ̂(ak)χ̂(al) .

0�������� ,� ( !
��� �
������� 

 m �� 
���� � ��)� ��� G�
��� �� "


����
� "
���
� ��� 3
�
���
���� ��
������ �
���� ���
��#

!
��� ��� � G !���
���

G = G1 ⊗G2 ⊗ ...⊗Gn ,

���� ��	
 Gj 
���� ������ ����
��� ��� G ��)�� mj � :���� � ��	
 a ∈ G
!���
��� 

 
������� ����� ��� !���

��

a = a1a2 · · · an



 a1 ∈ G1, a2 ∈ G2, ..., an ∈ Gn� %��
�����

m = m1m2 · · ·mn .

���&��

 ��� ��
�������

Ĝ→ Ĝ1 × Ĝ2 × · · · × Ĝn



7.



 ��� ����
χ̂ �→ (χ̂(1), χ̂(2), ..., χ̂(n)) ,

���� χ̂(j) 
���� � �
������
�� ��� χ̂ ���� ����
��� Gj �

$%��� χ̂, ψ̂ ∈ Ĝ ���
 χ̂(j) = ψ̂(j) !�� ��	
 j = 1, 2, ..., n�
'��
 �������

 ������ ���
 a ∈ G ��� �� !�����



a = a1 · · ·an



 
������� ��	����
��� aj ∈ Gj �
'��


χ̂(a) = χ̂(a1) · · · χ̂(an) = χ̂(1)(a1) · · · χ̂(n)(an)

= ψ̂(1)(a1) · · · ψ̂(n)(an) = ψ̂(a1) · · · ψ̂(an)

= ψ̂(a) .

$���

χ̂ = ψ̂

��� ����
��	��
 ��� � ��
������� 
���� .#.�

$%��� ��� �������� �� χ̂(1) ∈ Ĝ1, ..., χ̂
(n) ∈ Ĝn�

"� ����

 χ̂ ∈ Ĝ ��� ������ � �
������
�� �
 ��	
 Gj �� 
���� � χ̂(j) ��� 	�
����

 ����
�)
� ��� � ��
������� 
���� 
���

-�� ����� a ∈ G !�����



a = a1 · · ·an



 
������� ��	����
��� aj ∈ Gj ��� ���&��



χ̂(a) = χ̂(1)(a1) · · · χ̂(n)(an) .

�� a = a1 · · ·an, b = b1 · · · bn� ���

ab = (a1b1) · · · (anbn) ,

����


χ̂(ab) = χ̂(1)(a1b1) · · · χ̂(n)(anbn) = χ̂(1)(a1) · · · χ̂(n)(an)χ̂(1)(b1) · · · χ̂(n)(bn) = χ̂(a)χ̂(b) .

%����� e = e · · · e ���� 
��
�����
χ̂(e) = χ̂(1)(e) · · · χ̂(n)(e) = 1 .

$��� � χ̂ 
���� ������ ��� ��� G�
-�� ��	
 aj ∈ Gj � ��������� ����
�

aj = e · · · eaje · · · e ,
����


χ̂(aj) = χ̂(1)(e) · · · χ̂(j)(aj) · · · χ̂(n)(e) = χ̂(j)(aj) .



7� ��������� �	 �������
��


$��� � �
������
�� ��� χ̂ ���� Gj �����&
��� 

 ��� χ̂(j)�
$%���

� ������� ����
�)
� ��� � �������� ��
�������

Ĝ→ Ĝ1 × Ĝ2 × · · · × Ĝn


���� �
��
���� 
�����

��� ��� ����� �
������� !����&��

 ��� ��	
 Ĝj ��
� ��)� mj � ����
 ��
����
����� !���

�� ���� ��
� ���	���	
�

m1 · · ·mn = m .

$��� ��� � Ĝ ��
� ��� ���� ���	���	
� m�

������� ��� "� G ����� �������
��� �)������ �
��� ��� a ∈ G, a �= e� �	��
������� ���������
 χ̂ ��
 G ���� χ̂(a) �= 1�

�
�������
"� �����
���� ���

 �� ��
�����
� ��� ����
�)�� ��� "
�� 
���� 7�.�
$%��� ��� � G 
���� ������ 

G = {a, a2, ..., am−1, am = e} .
��

ω = cos
2π
m

+ i sin
2π
m

,

���
 � ������ ��� χ̂ ��� ���&
��� 
��� ��� �����

χ̂(ak) = ωk

��
�� ��������� ��� �������� �� ��
�����&
� ��	
 �����
�� ak ��� G ��� �
� 
����
�� e B����� k �= mC �
 ���	
� �= 1�

,�� !
��� �
�������

G = G1 ⊗G2 ⊗ · · · ⊗Gn ,

�� �����


a = a1 · · · an �= e ,

���
 ��� ����������� aj 
���� �= e�
$%������ �
�
���
� 

 ��� 
���� �
�������� !����&��

 ���� !�� �� ���� j�

�����
� χ̂(j) ������ ��� ��� Gj ���


χ̂(j)(aj) �= 1 .

"
����

� ����� �� 
������� ������ �� χ̂ ��� G� ��� ������ � �
������
��
���� Gj �����&
��� 

 ��� χ̂(j) ��� � �
������
�� ��� �
 ��	
 ���� Gi 
���� �
������ ������ ��� ��� Gi�

( ������
� ��� χ̂ �
��!���
��� ���� ����
�)� ��� �
�������� �� ��� "
�#
� 
���� 7�.�
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'��
� �������

χ̂(a) = χ̂(1)(a1) · · · χ̂(j)(aj) · · · χ̂(n)(an) = χ̂(j)(aj) �= 1

��� � ������� ����
��	��
�

$%��� �
�
���
��� ��
���� �
��� G ��)�� m� "� �����!����

 !�� ��	

������ �� χ̂ ��� G �� �	����
�

S =
∑
a∈G

χ̂(a) .

,��	
�������

 b ∈ G� '��


(†) χ̂(b)S =
∑
a∈G

χ̂(b)χ̂(a) =
∑
a∈G

χ̂(ba) =
∑
c∈G

χ̂(c) = S

��� ���������

 ��� ��� �
������
��+

.� �� χ̂ �= χ̂1� ���
 �����
� b ∈ G ���
 χ̂(b) �= 1�

@����
��������� ���� �� b ���� (†) �������



S = 0 .

�� �� χ̂ = χ̂1� ���


S =
∑
a∈G

χ̂1(a) =
∑
a∈G

1 = m .

%������ 	� �����!����

 !�� ��	
 a ∈ G �� �	����
�

T =
∑
χ̂∈Ĝ

χ̂(a) .

,��	
�������

 ψ̂ ∈ Ĝ� '��


(‡) ψ̂(a)T =
∑
χ̂∈Ĝ

ψ̂(a)χ̂(a) =
∑
χ̂∈Ĝ

(ψ̂χ̂)(a) =
∑
ω̂∈Ĝ

ω̂(a) = T

��� ���������

 ��� �
������
��

.� �� a �= e� ���
 ��� ��� 3������ 7�� ����

 ��� �����
� ψ̂ ���
 ψ̂(a) �= 1�

@����
��������� ���� �� ψ̂ ���� (‡) �������



T = 0 .

�� �� a = e� ���


T =
∑
χ̂∈Ĝ

χ̂(e) =
∑
χ̂∈Ĝ

1 = m

��� �� "
���
� 7�.�



77 ��������� �	 �������
��


$%���

� ������� ����
�)
� ��

������� ���  !��� G �������
��� �)������ �
��� ��3�
 m� %	�� ��� ����
��������� χ̂ ��
 G ������

∑
a∈G

χ̂(a) =
{

0, �� χ̂ �= χ̂1

m, �� χ̂ = χ̂1.

!����
� ��� ���� a ∈ G ������ 	��

∑
χ̂∈Ĝ

χ̂(a) =
{

0, �� a �= e
m, �� a = e.

#�$�%&'$() mod m

$%��� m 	
����� ��������� "
����

 �� ������ Gm ��� ����
�� ���������
modm �� ����
� 
���� ����
� ���� �� m�

Gm = {[a] : 1 ≤ a ≤ m, gcd(a,m) = 1} .
%���� !����� ��� �Gm ����
�
� ��
���� �
��� 

 ���)� ��� ������������
�

[a][b] = [ab]� ( ��)� ��� Gm 
���� ��� 

 ϕ(m)�

���!���"��� $%��� m = 9� ����
 ϕ(9) = 6 ���

G9 = {[1], [2], [4], [5], [7], [8]} .
%���� 
����� �� 
��!)��

 ��� � G9 
���� ������ 

 !
�� ���� �� [2]�
$��� �� ��
�� ������� ���
 ������ �� χ̂ ∈ Ĝ9 ��	���&����� ��� ��� ��
 

χ̂([2])�
'� ������ ��� ����� ��&�� ��� 
������ 
���� �� {ω, ω2, ω3, ω4, ω5, ω6 = 1}�

���� ω = cos 2π
6 + i sin 2π

6 ��� !����&��

 ��� ��� 3������ 7�.B7C ��� �� ��
��
��� 
���
� �� ���
� �� χ̂([2]) 
���� ������ ��� ����� ��� ���
� ��&
� ��� 
�������
,��� �
������� . ��� ����
�)�� ��� "
�� 
���� 7�. 
���

 ��� ������
��&
���
������ ��� ��� G9 ��� ������ � ��
 ��� [2] 
���� ������ ���
 ���
���
!
���
���� ��&� ��� 
�������

6�����

� 
��
����� �� ����

 ����� ���� ������ �
� ��� G9 B��� ������
�� �� 	�� 
���� >C ��� �� ����)��

 ��� ������

· [1] [2] [4] = [2]2 [5] = [2]5 [7] = [2]4 [8] = [2]3

χ̂1 1 1 1 1 1 1
χ̂2 1 ω ω2 ω5 ω4 ω3

χ̂3 1 ω2 ω4 ω10 = ω4 ω8 = ω2 ω6 = 1
χ̂4 1 ω3 ω6 = 1 ω15 = ω3 ω12 = 1 ω9 = ω3

χ̂5 1 ω4 ω8 = ω2 ω20 = ω2 ω16 = ω4 ω12 = 1
χ̂6 1 ω5 ω10 = ω4 ω25 = ω ω20 = ω2 ω15 = ω3



7=

������� ��� "� χ̂ : Gm → T ����� ���������
 ��
 Gm� �	�� ���(��
� 
�� ���
���������

χ : Z → T ∪ {0}

� ��� ����

χ(a) =
{
χ̂([a]), �� gcd(a,m) = 1 $��	�� [a] ∈ Gm&
0, �� gcd(a,m) > 1�

5 ��������� ���� ���
�(���� ���������
 mod m.

� ����
�� 
���� ������ ������ �� ��� �����
�� 
��� ������mod m 
���� ��
����
����� 

 �� m� ���
 ��	
 ���� �����
�� ��� 
���� 
����� ��
���� ����� 

 �� m�
9��� �� ��� �����
�� 
��� ������ mod m �
� 
���� ��
���� ����� 

 �� m� ���

��� ��	
 ���� �����
�� ��� �
� 
���� ��
���� ����� 

 �� m�

( ��������� χ ���
� ��� ���� ��
 �
 ����� ���� ��������� ��� ����������
���� ���� ����� mod m� ( ��
 ��� 
���� ������� � ��
 ��� ���
� � ���������
χ̂ ���� ���� ����� ��� �
����
� ������ ���� ���������� �� ����� 
���� ��
����
������ 

 �� m� �� ����� �
� 
���� ��
���� ������ 

 �� m� ���
 � ��
 ���
�������� ��� ��� χ 
���� ?�

6
����� �������
� ��� χ 
����
.� χ(1) = χ̂([1]) = 1�
�� $%���

a ≡ b mod m .

�� gcd(a,m) > 1� ���
 gcd(b,m) > 1� ����
 χ(a) = χ(b) = 0� %��� ��
gcd(a,m) = 1� ���
 gcd(b,m) = 1 ��� χ(a) = χ̂([a]) = χ̂([b]) = χ(b)�

:���� � �
 ��	
 �
�������

χ(a) = χ(b) .

0� χ(a)χ(b) = χ(ab) !�� ��	
 a, b ∈ Z�
��� � �������� ����
����
��� �� 
) ��
�� ��� ����������� ��� �� a, b �
� 
���� ��
���� ����� 

 �� m� ���
 ���


��� �� ab 
����� ����
 ��� �� ��� ��
���� ��� �������� 
���� ?�
$%���� ������� ��� gcd(a,m) = gcd(b,m) = 1� '��
 gcd(ab,m) = 1 ���

χ(a)χ(b) = χ̂([a])χ̂([b]) = χ̂([a][b]) = χ̂([ab]) = χ(ab) .

$��� ��� �$ ��� � ��� �
������� ����
��	��
 � ��������

( ��
������� χ̂ �→ χ 
���� ���#����#����

3��!
���� ���� χ̂, ψ̂ ������ �
� ��� Gm 



χ = ψ .

:���� 
χ(a) = ψ(a)



7> ��������� �	 �������
��


!�� ��	
 a ∈ Z�
'��
 !�� ��	
 a ∈ Z 

 gcd(a,m) = 1 ����

 ���

χ̂([a]) = χ(a) = ψ(a) = ψ̂([a]) ,

��� ��
���
� ���

χ̂([a]) = ψ̂([a])

!�� ��	
 [a] ∈ Gm� $���

χ̂ = ψ̂ .

%��
����� �� �� 	�� ��� ������ ��� mod m 
���� �� ���� 

 �� �� 	�� ���
������ ��� ��� Gm �� ������ ��
���� 

 �� "
���
� 7�.� 
���� ��� 

 ���
���	���	
� ��� Gm� ����� ��� 

 ϕ(m)�

� χ1� ����� � ������ ��� mod m � ������ �������
� ��� ��� ����� ����#
�� �� χ̂1 ��� Gm� ��
� ��
 . �
 ��	
 ������� ��� 
���� ��
���� ������ 

 ���
m ��� ��
 ? �
 ��	
 ����� ��������

6
���� ��� �� ����!��

�� ����!�������� ��� 
��

��

������� ��� 7�� ���� �����	 ������� m �������� ϕ(m) ���������
 mod m�
"���� ����� ����������
 χ : Z → T ∪ {0} 
� ��
 �������� ���	����


+� χ(1) = 1.

,� "� a ≡ b mod m� �	�� χ(a) = χ(b)�

-� χ(a)χ(b) = χ(ab) ��� ���� a, b ∈ Z�

/� 7�� ���� χ� ��������� mod m� ������

(k+1)m∑
a=km+1

χ(a) =
{

0, �� χ �= χ1

ϕ(m), �� χ = χ1.

8� 7�� ���� a ∈ Z ������

∑
χ

χ(a) =
{

0, �� a �≡ 1 mod m
ϕ(m), �� a ≡ 1 mod m�

	��� �� ������
� ���������� �� 	���
 ���
 ���������
 mod m�

�
�������
6��
� �� ����
��	��� �� �������
� 7� ��� =�
-�� ��� 7� ���������

 ���� ��	�� �� a �������
� ���� ���	
���

km+ 1, ..., (k + 1)m ,

�� [a] �������
� ��� ����
��
[1], ..., [m]

�����������
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9�	
 a ��� �
� 
���� ��
���� ����� 

 �� m ���
� ��
 ? ���� ���������� ���
��� �	����
�����

'� �������� [a] ���������� �� �����
�� ��� Gm ���� 
��
����� ��� ��� ����
�
��� χ ����



(k+1)m∑
a=km+1

χ(a) =
∑

[a]∈Gm

χ̂([a]) .

$��� �� ������
�
� 
���� �

�� �����
�� ��� "
�� 
���� 7���
-�� ��� =�� ����� �� a ≡ 1 mod m� ���
 �� a 
���� ��
���� ����� 

 �� m�

����
 ∑
χ

χ(a) =
∑

χ̂∈Ĝm

χ̂([a]) = ϕ(m)

��� �� "
���
� 7���
�� a �≡ 1 mod m� ���
 ����

 ��� �
������
���
��� 
�������� �� a �
� 
���� ��
���� ����� 

 �� m� ���
 ��	
 ���� ���

�	����
���� 
���� ?�
��� 
�������� �� a 
���� ��
���� ����� 

 �� m� ���
∑

χ

χ(a) =
∑

χ̂∈Ĝm

χ̂([a]) = 0

��� �� "
���
� 7��� ���� ���
 �� [a] �
� 
���� ��� 

 �� D.E� ����� �� 
��������
�����
�� ��� Gm�



7/ ��������� �	 �������
��




�������� �

�� L−�
���	����� 	�

Dirichlet

"
����

 	
���� ������� m ��� �
����-Dirichlet ��� 
��� �

+∞∑
n=1

χ(n)
ns

,

���� χ 
���� ������ ��� mod m�
"
����

 ��
��!��

K ⊆ Π1 .

'��
� �����
� σ0 > 1 ���


K ⊆ Πσ0 .

����
� 
�
�� � �� s = σ + iτ ∈ K� ����
�∣∣∣χ(n)
ns

∣∣∣ ≤ 1
nσ

≤ 1
nσ0

��� 
�
�� � �
���
∑+∞

n=1
1

nσ0 ��!����
�� ���
��!
��� ��� � �
���

+∞∑
n=1

χ(n)
ns

��!����
� �
���
���� ��� K�
$��� ��� �� "
���
� .�� � �
��� ���&
� �������� ��������� ��� �
�
���
��

Π1�
� ����� �����!��
�� ���
� ��� � �
���

+∞∑
n=1

χ(n)
ns

7<



=? ��������� �	 �� L−
������

��
 ��� DIRICHLET

��!����
� �������� !�� ��	
 s ∈ Π1�

$�
��� �� 	����

 s = 1 ���
∑+∞

n=1
|χ(n)|

ns � ���
 � �
��� �������
�� 3��!
����
��������� 
���� ���� n = km+1, k ≥ 0, ��� ������������ ��� �� ���	
�� �����

���� ��
���� ������ 

 �� m� �������



+∞∑
n=1

|χ(n)|
n

≥
+∞∑
k=0

|χ(km+ 1)|
km+ 1

=
+∞∑
k=0

|χ̂([km+ 1])|
km+ 1

=
+∞∑
k=0

1
km+ 1

≥
+∞∑
k=0

1
km+m

=
1
m

+∞∑
k=0

1
k + 1

= +∞ .

%��
����� ��
���� 

 ��� ����
� 0�0� � �
�
�
��� �������� ��!������ ���
�
���� 
���� α0 = 1 ��� �� �
�
���
�� �������� ��!������ 
���� �� Π1�

��� ��� 3������ 0�0 ���
��!
��� ��� � �
�
�
��� ��!������ α ��������
�
��� ���������

0 ≤ α ≤ 1

��� ������ 
��� ����� 
���� �� �����!����

 ������� ��� ��
 ��� α�

0�������� +2 � χ 
���� � ������ ������ ��� mod m� ����� χ = χ1�
'��
 χ1(n) = 1 !�� ��	
 n � ������ 
���� ��
���� ������ 

 ��� m� 
��

χ1(n) = 0 !�� ��	
 n � ������ �
� 
���� ��
���� ������ 

 ��� m�
-�� �����
�!
��

χ1(km+ 1) = 1

!�� ��	
 k ���� 
��
����� �� s = 1

+∞∑
n=1

χ1(n)
n

=
∑

n:gcd(n,m)=1

1
n
≥

+∞∑
k=0

1
km+ 1

= +∞ .

$��� � �
��� �������
� ��� s = 1� ����
� ��
���� 

 ��� ����
� 0��� �
�
�
�
��� ��!������ ��� �
���� 
���� α = 1 ��� �� �
�
���
�� ��!������ 
���� ��
Π1.

0�������� ,2 � χ �
� 
���� � ������ ������ ��� mod m�
'��
� !�� ��	
 n �����
� �������� l ≥ 0 ���


lm+ 1 ≤ n < (l + 1)m ,

����
� ��� �� "
���
� 7�0B7C ����

 ���

∣∣∣ n∑
k=1

χ(k)
∣∣∣ = |χ(lm+ 1) + · · · + χ(n)| ≤ |χ(lm+ 1)| + · · · + |χ(n)| ≤ m

����� ��	
 ���� ��� �
�
����� �	����
� 
���� ≤ 1 ��� �������� �� ����m �������
�����



=.

,�
����&��



sn =
n∑

k=1

χ(k) ,

����
 !�� ��	
 n ������� ��

|sn| ≤ m , χ(n) = sn − sn−1 (n ≥ 2) , χ(1) = s1 .

3������

 ���!
����� s = σ > 0 ��� �����!�&��



(�)
n∑

k=1

χ(k)
kσ

= χ(1) +
n∑

k=2

sk − sk−1

kσ

= s1 +
n∑

k=2

sk

kσ
−

n−1∑
k=1

sk

(k + 1)σ

=
sn

nσ
+

n−1∑
k=1

sk

( 1
kσ

− 1
(k + 1)σ

)
.

3��������

 ��� � �
���

+∞∑
k=1

sk

( 1
kσ

− 1
(k + 1)σ

)

��!����
� ��������� �����

+∞∑
k=1

|sk|
∣∣∣ 1
kσ

− 1
(k + 1)σ

∣∣∣ ≤ +∞∑
k=1

m
( 1
kσ

− 1
(k + 1)σ

)
= m .

$��� � �
���
∑+∞

k=1 sk( 1
kσ − 1

(k+1)σ ) ��!����
� ���� 
�
�� 

∣∣∣ sn

nσ

∣∣∣ ≤ m

nσ
→ 0

���� n→ +∞� ��
�
������

 ��� ��� ���� (�) ��� � �
���

+∞∑
k=1

χ(k)
kσ

��!����
��
�� s = 0� ���
 � �
��� !��
���

+∞∑
n=1

χ(n)

��� �������
� ���� � ���� χ(n) �
� �
��
� ��� ?�



=� ��������� �	 �� L−
������

��
 ��� DIRICHLET

3��!
����
|χ(n)| = 1

!�� ��� ��
��
� ��
�� n = km+ 1�
��� ��� ����
� 0�� ���
��!
��� ��� � �
�
�
��� ��!������ 
���� α = 0 ���

�� �
�
���
�� ��!������ 
���� �� Π0�
����
���������



������� ��
  !��� �����-Dirichlet ��
 
����

∑+∞

n=1
χ(n)
ns � 	��� χ ����� ����#

�����
 mod m� %	��

+� %� �
�������� ��	����
 ��������
 ���� ������
 �����
 ����� �� Π1�

,� %� �
�������� ��������
 ����� �� Π1 �� χ = χ1 ��� ����� �� Π0 �� χ �= χ1�

,��
��!
���� ����� ��� �� "
���
� 0�. ��� ��� ����
� 0�� ��� �
���� �������

��� � ���&��� ���������� ������ �
�� ��� �
�
���
�� ��!���� � �����

������� ��
 1� L(s;χ) ��
)���(��
� �� ��������� � ����� ���(���� 
� ���
����

L(s;χ) =
∑+∞

n=1
χ(n)
ns

��� �
�������� ��������
 ��
 �����
�
5 ��������� ���� ���
�(���� L−��������� ��� Dirichlet mod m ���

����� ��������� ��������� ��� �
�������� ��������
 ��
 �����
�

��� ��� 3������ =�. ���
��!
��� ��� � L(s;χ) 
���� �������� ��� �
�
���
��
Π0 !�� ��	
 χ �= χ1� 
�� � L(s;χ1) 
���� �������� ��� 
�����
�� �
�
���
�� Π1�

"� ���

� �
��� �
 ��!� �� 
�����

 �� ���

 !�� �� ��������� L(s;χ1) ���
Π0�

������� ��
 7�� ���� χ� ��������� mod m� ������

L(s;χ) =
+∞∏
k=1

(
1 − χ(pk)

ps
k

)−1

, s ∈ Π1 .

!��
���
�
L(s;χ) �= 0

��� ���� s ∈ Π1�

�
�������
( ������� 
���� �

�� �����
�� ��� "
�� 
���� ����
3��!
���� ��� �� "
���
� 7�0B0C � ���������

χ(n)
ns

��� n 
����� !�� ���	
�� s� �� ���#��������������� ��� � �
���

+∞∑
n=1

χ(n)
ns

,



=0

���� 
���

 ���� 3������ =�.B.C ��!����
� �������� �� 
s > 1�
'� �
��
�� ������
�
� ���
��!
��� ��� ��� 3���� ���� 

�� ��� ��� ���#

�
� .�. ��� ��� �� ��� ������� ����(
1 − χ(p)

ps

)−1

��� ��
���#!���

��� �
� 
��
��&
����

�� 
���
����

 �� ����!��

�� "
���
� =�. 



χ = χ1

��� ������� ���

 ���

gcd(p,m) > 1 �������

� 

 p/m ,

���
 �������

 ��� ��� ���� ��� Euler ��� �� "
���
� ��0B7C ���

(†) L(s;χ1) =

∏+∞
k=1

(
1 − 1

ps
k

)−1

∏
p:p/m

(
1 − 1

ps

)−1 = ζ(s)
∏

p:p/m

(
1 − 1

ps

)

!�� ��	
 s ∈ Π1�
��� ����� ��
�������



M(s) =
∏

p:p/m

(
1 − 1

ps

)
,

���
 � ��������� M 
���� �
�
���
��� !���

�� ���������� ������ �
�� ���
C ���� 
��
����� 
���� ��� ��� �������� ��� C�

��� �� "
���
� ��0 !����&��

 ��� � ��������� ζ 
���� 

��
���� ���
�
�
���
�� Π0 

 ���� ���� ���� ��� ��

�� s = 1 ���� ��
� residue = 1�
:���� � ��������� 

 ����

λ(s) = ζ(s) − 1
s− 1


���� �������� ��� Π0�
$���

ζ(s)M(s) =
(
λ(s) +

1
s− 1

)
M(s) = λ(s)M(s) +

M(s)
s− 1

!�� ��	
 s ∈ Π0 \ {1}�
%��
����� � ��������� ζ(s)M(s) 
���� �������� ��� Π0 \ {1} ��� 

 ���

�����!��
�

lim
s→1

(s− 1)ζ(s)M(s) = lim
s→1

[(s− 1)λ(s)M(s) +M(s)]

= M(1) =
∏

p:p/m

(
1 − 1

p

)
�= 0



=7 ��������� �	 �� L−
������

��
 ��� DIRICHLET

����
����
��� ��� ��
� ���� ���� ��� ��

�� s = 1 

 residue =
∏

p:p/m(1 − 1
p )

��� ��

�� �����
��� ��� ���� (†)� � ������ ����
� ��� Π1� ��
�
������

 ��� � ζ(s)M(s) 
����


������� ��� L(s;χ1) ��� Π0�
$%���� ������� 
�����

 �� 	
����

 ��� L(s;χ1) ����
��� B
��� ��� �����

(†)C ��� �
�
���
�� Π0�
:���� � L(s;χ1) 
���� 

��
���� ��� Π0 ��� ��
� ��� 
���� ���� ���� ���

��

�� s = 1 

 residue =
∏

p:p/m(1 − 1
p ) ��� ��

�� �����

6
���� ��� �� ����!��

�� ��
�
���
��� �
��������� ���

������� ��� 7�� ���� �����	 ������� m ��� ���� χ� ��������� mod m� ����
�
	��

+� "� χ �= χ1� �	�� � ��������� L(s;χ) ����� ��������� ��� Π0 ���

L(s;χ) =
+∞∑
n=1

χ(n)
ns

, ��� ���� s ∈ Π0 .

,� "� χ = χ1� �	�� � ��������� L(s;χ1) ����� 
��	
���� ��� Π0 
� ���

	��� ���	 �	�� ��� ��
��� s = 1� !����
�

L(s;χ1) = ζ(s)
∏

p:p/m

(
1 − 1

ps

)
, ��� ���� s ∈ Π0

���

L(s;χ1) =
+∞∑
n=1

χ1(n)
ns

, ��� ���� s ∈ Π1 .



�������� 


�� ������� 	�
 Dirichlet

������� ��
 "� m ����� �����	
 �������
 ��� ������
�

P (s) =
∏
χ

L(s;χ) ,

	��� ��� �������
��� ���	
��� �� χ ��������� 	���
 ���
 ���������
 mod m�
�	�� � ��������� P (s) ����� 
��	
���� ��� �
�������� Π0 
� ��� 
	��� ���	
�	�� ��� ��
��� s = 1�

�
�������

��� �� "
���
� =�� ���
��!
��� ��� ��	
 ��������� ��� !���

�� 
����


��
���� ��� Π0 ���� 
��
����� ��� �� !���

�� ���� 
���� 

��
���� ���������
��� Π0�

� 
�������� ��	���� ����� ��� P (s) 
���� ��� ��

�� s = 1� ����� � 
������ 
��������� ��� !���

�� ��� ��
� ���� 
���� � L(s;χ1) ��� 
��� ��� ��

�� s = 1�

$���� �� ��
�� ���� L(s;χ) �
� 
��
��&
��� ��� s = 1� ���
 �� ��

�� ����

���� ����� ��)�� . ��� !���
����� 
��� �� 
�� ����������� ��� ��� ���
� L(s;χ)

��
��&
��� ��� s = 1� ���
 � ����� ��� ��

�� ���� �����
���� ��� �� !���

��

���� �������� ��������� �
 �������� �� Π0�

���
��
� �� �����
����

 �� �
��
�� �
��������
��� � � ���������

log
1

1 − σ
=

+∞∑
k=1

σk

k
,

� ����� ����
� !�� ��	
 σ 

 0 < σ < 1� �������

 ���

1
1 − σ

= exp
+∞∑
k=1

σk

k

!�� ��� ���
� ��
�� ��� σ�

==



=> ��������� �	 �� �����
�� ��� DIRICHLET

�� ������ �
�� 1
1−s ��� exp

∑+∞
k=1

sk

k 
���� ��� �� ��� ���������� ������ #
�
�� ��� 
�������� ����� ∆(0; 1) = {s : |s| < 1} ���� 

 ���� �� ����!��#


��� �����&����� ��� ������
� (0, 1)� ��� ��� ��� �������� � ,��������
B"
���
� .�>C ���
��!
��� ��� �� ��� ������ �
�� �����&����� �
 ��������� ��
������ :���� 

1
1 − s

= exp
+∞∑
k=1

sk

k
, s ∈ ∆(0; 1) .

�� 
s > 1� ���
 |χ(p)
ps | < 1� ����
� �����
��������� ��� ����!��

�� �����

�� "
���
� =�. ��� �� "
���
� 7�0B0C� �������



L(s;χ) =
+∞∏
l=1

exp
[+∞∑

k=1

χ(pk
l )

kpks
l

]
= exp

[+∞∑
l=1

(+∞∑
k=1

χ(pk
l )

kpks
l

)]
.

( 
�����! ��� ��
���#!���

��� ��� ��� exp �
 exp ��� �
��� 
������
���
��� ��� ����
� ��� ��
���#!���

����

,��� 
��

�� �����!��
� 

 
s > 1 � ����� ��� � ������� ������� ������#
��!������ 
�
�� ��

∑
χ 
���� �
�
���
��� ��� � ���� ������� ����
� ��!� ���

"
�� 
���� 7�0B=C�

P (s) =
∏
χ

L(s;χ) =
∏
χ

exp
[+∞∑

l=1

(+∞∑
k=1

χ(pk
l )

kpks
l

)]

= exp
[∑

χ

(+∞∑
l=1

(+∞∑
k=1

χ(pk
l )

kpks
l

))]

= exp
[+∞∑

l=1

(+∞∑
k=1

(∑
χ

χ(pk
l )

kpks
l

))]

= exp
[+∞∑

l=1

(+∞∑
k=1

1
kpks

l

(∑
χ

χ(pk
l )

))]

= exp
[
ϕ(m)

+∞∑
l=1

( ∑
k:pk

l
≡1 mod m

1
kpks

l

)]
.

3
�����&�
���
� ���������� �
 ���!
�����

s = σ > 1 ,

����
� 
�
�� 
1

kpkσ
l

> 0 ,


������
��� ��� �� "
���
� .�< � 
�����! ��� �
���� �������� � �	������ ���
�������



(‡) P (σ) = exp
[
ϕ(m)

+∞∑
k=1

( ∑
l:pk

l
≡1 mod m

1
kpkσ

l

)]
, σ > 1 .



=1

���&��

� ����� �� �
��� -Dirichlet

Q(s) = ϕ(m)
+∞∑
n=1

an

ns
,

���� �� ����
�
���� ���&����� 

 ��� ����

an =
{

1
k , �� n = pk !�� ������ p, k ��� n ≡ 1modm
0, �
 ��	
 ���� �
��������

���� ��� 
�����

 �� ���

 �
���� !�� �� �
��� ��� 
���� ���� 
�
�� ��
����
�
���� ��� 
���� 
�#���������� �� �
�
���
�� ��!���� � ��� �����&
��� 


�� �
�
���
�� �������� ��!���� � ���� :���� α = α0 !�� ��� �
�
�
��
� ��#
!������ ��� �������� ��!�������

%������ � ����� (‡) !���
���

(‡) P (σ) = expQ(σ), , σ > 1 .


� �� 	����

 s = σ > 1� ���


+∞∑
n=1

an

nσ
≤

+∞∑
n=1

1
nσ

< +∞ .

$��� � �
�
�
��� ��!������ 
���� α ≤ 1�
�� �� 	����

� ����� s = σ > 0 ��� ���� ���

 
���� ���� ����� 



k = ϕ(m)� ���


Q(σ) ≥
∑

l:p
ϕ(m)
l

≡1 mod m

1

p
ϕ(m)σ
l

.

$���� �� σ = 1
ϕ(m) � �����
��������� �� 	
���
� Fermat-Euler � �������



Q
( 1
ϕ(m)

)
≥

∑
l:p

ϕ(m)
l

≡1 mod m

1
pl

=
+∞∑
l=1

1
pl

−
∑

l:pl/m

1
pl

= +∞

��� �� "
���
� ��.� ����� �� �
�
����� �	����
� 
���� �
�
���
����
$��� � �
�
�
��� ��!������ 
���� α ≥ 1

ϕ(m) �

��� �� 
 ��� � ����

 ��� � �
�
�
��� ��!������ ��� Q(s) ��������
� ���

0 <
1

ϕ(m)
≤ α ≤ 1 .

A��	����

� ����� ���� ��� 	����

 �� �����
����

� :���� � ��� � P (s)

���� �������� ��� �
�
���
�� Π0�

%�
�� � Q(s) 
���� �������� ��� Πα ���� 
�
�� � ��
���� 

 ��� �
��
��
���� (‡)� �� ������ �
�� P (s), expQ(s) �����&����� ���� �
�
�	
�� (1,+∞)�



=/ ��������� �	 �� �����
�� ��� DIRICHLET

��� ��� ��� �������� � ,�������� ���
��!
��� ��� �����&����� ��� ����� �#

�
���
�� Πα� :���� 

P (s) = expQ(s) , s ∈ Πα .

A����!�&��

� ����� ��� ����

�� ��� Q(s)�
%�
�� �

∑+∞
n=1

an

ns ��!����
� �������� ���� s ∈ Πα� ���
��!
��� ��� ��
"
���
� 0�0 ���

Q(s)2 = ϕ(m)2
+∞∑
n=1

b
(2)
n

ns
, s ∈ Πα ,

���� �� ����
�
���� �������� ��� ���� ������

b(2)n =
∑

k,k′ :kk′=n

akak′ .

%�������� ��� �� ���� "
���
� 0�0 !����&��

 ��� ��� � �������!�� �
���
��#!����
� �������� !�� ��	
 s ∈ Πα�

,��
��&����� 
��!�!��� 
�����

 
����� �� ���

 ��� !�� ��	
 ������ �#
��	
� k ����
�

Q(s)k = ϕ(m)k
+∞∑
n=1

b
(k)
n

ns

!�� ��	
 s ∈ Πα� ���� �� ����
�
���� b
(k)
n 
���� 
�#��������� B���� ������� b

(1)
n =

anC ��� � �
��� ��!����
� �������� ��� �
�
���
�� Πα�
$%���

� ����

P (s) = expQ(s) = 1 +
+∞∑
k=1

ϕ(m)k

k!

(+∞∑
n=1

b
(k)
n

ns

)
,

����
� �� �����

 ���!
�����

s = σ > α ,

���
� 
�
�� ���� �� ���� 
���� 
�#���������� 
�����

 B"
���
� .�<C �� 
�����#
)��

 �� �
��� �	������ ���

(§) P (σ) = 1 +
+∞∑
n=1

cn
nσ

,

����

cn =
+∞∑
k=1

ϕ(m)k

k!
b(k)
n .

%�
�� � P (s) 
���� �������� ��� Π0� �� P (σ) 
���� �
�
���
��� ���� σ > α�
����
 � �
��� -Dirichlet

1 +
+∞∑
n=1

cn
ns



=<

��
� �
�
�
��� ��!������
α′ ≤ α .

3������

 ���� ���!
�����

s = σ > α′ ,

����
� ��������� 
���� ���� ����� 

 k = 1�

ϕ(m)
+∞∑
n=1

an

nσ
≤ 1 +

+∞∑
n=1

(+∞∑
k=1

ϕ(m)kb
(k)
n

k!nσ

)
= P (σ) < +∞ .

$��� � �
��� ��� ���&
� �� ��������� Q(s) ��!����
� !�� s = σ > α′� ����


α ≤ α′ .

%��
����
α′ = α

���� 
�
�� α ≥ 1
ϕ(m) � ���
��!
��� ���

α′ ≥ 1
ϕ(m)

> 0 .

��� �� ����� (§) ����

 ��� � ��������� P (s) �����&
��� 

 �� �
��� -
Dirichlet 1 +

∑+∞
n=1

cn

ns ��� �
�
���
�� ��!���� � ��� Πα′ ��� 
���� ����
�)�


��� α′ > 0�

%����� ����

 ��� �� ����
�
���� cn ��� �
���� 
���� ���� 
�#����������
$��� ��� �� "
���
� ��� Landau B"
���
� 0��C ���
��!
��� ��� �� ��

��

s = α′ �
� 
���� �������� ��

�� ��� �
����� :���� � P (s) �
� 
���
� ��

�
���	
� ��� �������� ��������� �
 ������ ��� 
��� � Πα′ ∪ D(α′; δ) !��
������ δ > 0�

����� �
��� ���
��� �
 �������� 

 �� ��� � P (s) 
���� �������� ��� �#

�
���
�� Π0�

������� ��
 "� χ �= χ1� �	��

L(1;χ) �= 0 .

�
�������
$���� 
���

 ��� ���� ��� ��� ����
�)�� ��� 3������� >�.� �� !�� ������

χ �= χ1  ��� L(1;χ) = 0� ���
 ��� !���

��

P (s) =
∏
χ

L(s;χ)

	� ������� � ����� ����� ��� L(s;χ1) ��� s = 1 

 ������
�
� ��  ��� �
��������� P (s) �������� ��� s = 1�

����� �
��� ��������
� 

 ��� 3������ >�.�



>? ��������� �	 �� �����
�� ��� DIRICHLET

������� ��� $Dirichlet & "� � m ����� �����	
 �������
 ��� gcd(a,m) = 1�
�	�� �������� ������� ������ p ����

p ≡ a modm

�� �������
�� �������� ������� ������ p ���� ����
����� ��	���

a, a+m, a+ 2m, a+ 3m, ... .

�
�������
���
� �� ����
�)��

 ���

∑
l:pl≡a mod m

1
pl

= +∞ .

'��
 �� �	����
� 	� ��
� ����� ���
 ��
����� ������
��� ��� ����
�)� ��� 3������� >�. !����&��

 ��� ����

L(s;χ) = exp
[+∞∑

l=1

(+∞∑
k=1

χ(pk
l )

kpks
l

)]
, s ∈ Π1 .

%��
����� �� 	����



R(s;χ) =
+∞∑
l=1

(+∞∑
k=2

χ(pk
l )

kpks
l

)

!�� 
s > 1� ���


L(s;χ) = exp
[+∞∑

l=1

χ(pl)
ps

l

]
expR(s;χ) , s ∈ Π1 .

( �
��� ��� ���&
� ��� R(s;χ) ��!����
� �
���
���� �
 ��	
 ��
��!�� ���#
������ ��� Π1/2 �

-�� �� �� ����
�)��

 �������

 ��
��!��

K ⊆ Π1/2 ,

����
 �����
�
σ0 > 1/2

���

K ⊆ Πσ0 .

'��
� !�� ��	
 s ∈ K ����
� ���

∣∣∣χ(pk
l )

kpks
l

∣∣∣ ≤ 1
kpkσ0

l

≤ 1
pkσ0

l



>.

��� ���

+∞∑
l=1

(+∞∑
k=2

1
pkσ0

l

)
=

+∞∑
l=1

1
p2σ0

l

(
1 − 1

pσ0
l

)−1

≤ (1 − 1
2σ0

)−1
+∞∑
l=1

1
p2σ0

l

< (1 − 1
2σ0

)−1
+∞∑
n=1

1
n2σ0

< +∞ .

$��� � �
���
+∞∑
l=1

(+∞∑
k=2

χ(pk
l )

kpks
l

)
��!����
� �
���
���� ��� K�

��� �� "
���
� .�� ���
��!
��� ��� � R(s;χ) 
���� �������� ��� �
�
���
��
Π1/2 �

"
����

� ����� ������� a 



gcd(a,m) = 1 .

%���� !����� ��� �����
� �������� b ���


ab ≡ 1 mod m .

$%���

� ������� ��� �� "
���
� 7�0B0C� !�� 
s > 1

L(s;χ)χ(b) = exp
[+∞∑

l=1

χ(bpl)
ps

l

]
exp[χ(b)R(s;χ)]

���� 
��
����� 
�
�� �� �� 	�� ��� ������ ��� mod m 
���� �
�
���
���

∏
χ

L(s;χ)χ(b) = exp
[+∞∑

l=1

(∑
χ

χ(bpl)
ps

l

)]
exp

[∑
χ

χ(b)R(s;χ)
]
.

���&��



T (s) =
∑

χ

χ(b)R(s;χ)

��� � ��������� ��� 
����� ��� �
�
���
��� �	����
� ���������� ������ �
���
�������� ��� Π1/2 �

%������ ��� �� "
���
� 7�0B=C ���
��!
��� ���

∏
χ

L(s;χ)χ(b) = exp
[+∞∑

l=1

1
ps

l

(∑
χ

χ(bpl)
)]

expT (s)

= exp
[
ϕ(m)

∑
l:bpl≡1 mod m

1
ps

l

]
expT (s)
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!�� ��	
 s ∈ Π1�
%�
�� 

bp ≡ 1 modm �������

� 

 p ≡ a modm ,

���
��!
���

∏
χ

L(s;χ)χ(b) = exp
[
ϕ(m)

∑
l:pl≡a mod m

1
ps

l

]
expT (s)

!�� ��	
 s ∈ Π1�
3��������

 ���

b ≡ 1 modm ,

����

χ1(b) = 1 .

$���

exp
[
ϕ(m)

∑
l:pl≡a mod m

1
ps

l

]
= exp[−T (s)]L(s;χ1)

∏
χ
=χ1

L(s;χ)χ(b)

!�� ��	
 s ∈ Π1�
( T (s) 
���� �������� ��� Π1/2� ����


lim
s→1

exp[−T (s)] = exp[−T (1)] �= 0 .

'� ∏
χ
=χ1

L(s;χ)χ(b)

��� !���

�� �
�
���
���� �� 	��� ���������� ������ �
��� 
���� �������� 
��������� ��� Π0� ����
 �� ���� ��� ���� s→ 1 
���� ��� 

∏

χ
=χ1

L(1;χ)χ(b) �= 0

��
���� 

 �� "
���
� >�.�
'����� ��� �� "
���
� =��B�C �� s = 1 
���� ����� ��� L(s;χ1)� ����


lim
s→1

L(s;χ1) = ∞ .

$���� ���� s→ 1 
��� ��� �� �
�
���
�� Π1� ���


exp
[
ϕ(m)

∑
l: pl≡a mod m

1
ps

l

]
→ ∞ .

%������
��� �� �� s = σ 
���� ���!
����� ���

σ → 1+ ,



>0

���
� 
�
�� 

exp
[
ϕ(m)

∑
l:pl≡a mod m

1
pσ

l

]
> 0 ,

��
�
������

 ���

lim
σ→1+

exp
[
ϕ(m)

∑
l:pl≡a mod m

1
pσ

l

]
= +∞ .

'����� 
�
�� ∑
l:pl≡a mod m

1
pσ

l

≤
∑

l:pl≡a mod m

1
pl

!�� ��	
 σ > 1� ����

 ���

∑
l:pl≡a mod m

1
pl

= +∞ .


